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Read the following instructions carefully before you begin to attempt the questions.

This booklet contains 150 questions in all comprising the following five parts.

Part-(I): Child Development & Pedagogy (30 Questions)

Part-(Il): Language | (English Language) (30 Questions)

Part-(lll): Language Il (Hindi Language) (30 Questions)

Part-(IV): Mathematics and Science (for Mathematics and Science teacher) (60 Questions)
OR

Part-(V): Social Studies/Social Science (for Social Studies/Social Science teacher) = (60 Questions)
All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

Each carrying one mark and there will be no negative marking.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.

Do not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.

Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.
(13) No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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10.

11.

Fb:-

12.

: Child Development & Pedagog

Which of the following is best from a teacher's
perspective?

(A) Every child can learn

(B) Some child can learn

(C) Most children can learn

(D) Very few children can learn

13.

How a child learns?
(A) By reading books
(C) By asking questions

(B) By discussion
(D) In many ways

14.

Regarding the errors make by an students during
learning process, which of the following is best as per
your view point?

(A) Students should never make mistakes.

(B) Mistakes are the part of learning process.

(C) Mistakes happen due to carelessness of the
students.

(D) Students can make mistakes ocasionaly.

15.

Madhu is weak in mathematics. From a perspective of a
good teacher what could be the reason of her being
weak in mathematics?

(A) Girls are usually weaker in mathematics

(B) Her parents are illiterate

(C) She is not interested in learning

(D) Teaching method of mathematics is erroneous

16.

Which of the following is the best statement? A good
teacher-

(A) Uses lecture method for teaching

(B) Always teaches through demonstration

(C) Always inspires students for learning

(D) Always keeps the students in discipline

According to National Curricullum Framework 2005
(NCF 2005) the main objective of teaching mathematics
is-

(A) To aquiant the children with arithmetic.

(B) To create interest in children towards maths.

(C) To develop logical thinking and problems sloving
ability in children.

(D) To develope thoughtfullness among children.

17.

18.

What is the feature of a mentaly healthy teacher?
(A) He is ballanced in senses

(B) He has deep knowledge of his subject

(C) He is very sensitive

(D) He loves strict discipline

19.

The most important objective of education is-
(A) To earn a living

(B) Allround development of child

(C) To learn reading and writing

(D) Intellectual development

20.

Which one of the following is not considered a sign of
gifted children?

(A) Curiosity

(C) Think abstractly

(B) Creative ideas
(D) Fighting with others

21.
The disability, speech impairment is associated with
(A) Intellectual deviance (B) Sensory deviance
(C) Auditory deviance (D) Motor deviance

22.

As a teacher in your class you observed a student who
demonstrates high level of language development and
verbal ability. In which category will you classify him?

(A) Moron (B) Imbecile
(C) General intellectual ability
(D) idiots
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Which one of the following cognitive verbs are not used
to analyse the information given?

(A) Appraise (B) Compare

(C) Examine (D) Describe

Which one of the following is not the example of
intrinsic motivation?

(A) Engaging in a hobby
(C) Praise

(B) Anxiety
(D) Need for achievement

Which one of the following teaching strategy is not
related to autocratic teaching strategy?

(A) Lecture Method (B) Demonstration Method
(C) Discussion Method (D) Story telling method

There is a lot of linguistic diversity in India. At primary
level, what should be done in multilingual classrooms to
deal with problems related to this diversity?

(A) Students must be fined when found speaking in
their mother tongue or local language.

(B) Admissions should not be given to those students
who speak other languages

(C) The teacher must encourage children to
communicate with each other through the means of
language with expressions.

(D) The teacher can ignore teaching in those schools.

If a child fails to perform well in the class test leads us
to believe that -

(A) there is no need to reflect upon the syllabus,
pedagogy and assessment process.

(B) Children are born with certain capabilities and
deficits.

(C) There is a need to reflect upon the syllabus,
pedagogy and assessment processes.

(D) Some children are deemed to fail irrespective of
how hard the system tries.

Which among the following are the parameters for
measuring the validity of a test?

(A) Construct (B) Stability

(C) Criterion (D) Content

Which one of the following does not involve interaction
between the teacher and the pupil, despite plays an
important role in factors affecting learning?

(A) Teaching (B) Instruction

(C) Tuition (D) Learning

According to Krathwohl, which one of the following is
not an area of learning?
(A) Affective
(C) Conative

(B) Spiritual
(D) Cognitive

Trouble in interacting, narrow interests, repetitive
behaviours etc. are the symptoms of which type of
disorder?

(A) Attention Deficit Hyperactivity Disorder

(B) Autism

(C) Dyslexia

(D) None of the above

Toy age is related to which stage?
(A) Early childhood (B) babyhood
(C) Late childhood (D) All of these

Which of the following is not correct regarding growth of
an individual?

(A) Growth is quantitative changes in an individual.

(B) Growth does not continue through out the life.

(C) Growth always brings development.

(D) Changes produced by growth are subject to
measure.
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23.

24,

25.

26.

27.

28.

29.

30.

According to the Jean Piaget, Operative intelligence is
the active aspect of
(A) Intelligence

(C) Attitude

(B) Formation
(D) Perception

Lev Vygotsky in 1978 states: “Every function in the
child’s cultural development appears twice: first, on the
social level, and later, on the level.

(A) Cultural level (B) Physical level

(C) Individual level (D) All of the above

“MA” in the formula of 1Q is
(A) Mental Ability
(C) Mental Age

(B) Maturity ability
(D) Maturity age

Which among the following is not a measurement to
measure a growth of a child?

(A) Weight (B) Height

(C) Learning (D) Eruption of teeth

To remove the gender differences, the classroom
should have:

(A) Special environment for boys

(B) Equal environment for boys and girls

(C) Unequal environment for boys and girls

(D) None of these

Which among the following comes under the study of
individual differences?

(A) Physical differences
(C) Cultural differences

(B) Mental differences
(D) All of the above

According to the Jean Piaget’s theory of relationship
between language and thought:

(A) Thought determines Language

(B) Language determines Thought

(C) Thought and language are independent processes
until the child is 2 years

(D) Language and Thought are innate proposition

A life starting from a tiny cell develops his body, mind
and other aspects of one’s personality through a
constant stream, comes under the principle of

(A) Principle of Uniform Pattern

(B) Principle of Individuals Differences

(C) Principle of Continuity

(D) Principle of Integration

31.

32.

33.

34.

Fb:-

English Languag

To evaluate reading comprehension at Class Il level,
students may be asked to.

(A) retell a story in their own words or to summarize the
main idea or the moral of the story.

(B) take a short dictation of what they have read.

(C) write a diary based on one of the characters.

(D) use a set of identified vocabulary on their own.

Pedagogical knowledge includes
(A) knowledge of content  (B) knowledge of method
(C) Both (A) and (B) (D) None of the above

What exercises the teacher can follow post reading in
the classroom?

(A) Comprehension questions

(B) Language and grammar work

(C) Pronunciation exercises and structure exercises

(D) All of the above

Answer the following question by selecting the most
appropriate option.

Which one of the following is most important in learning
a language?

(A) Language rich environment

35.

36.

37.

38.

39.

(B) Language class in a school
(C) Textbook
(D) Language lab

Learners are involved in individual activities, pair work,
group work and whole-class work because these.

(A) enable the already over-worked teacher to preserve
her energy there by becoming more effective.

(B) afford the learners opportunities to use the
language in a focused manner for real-life interaction.
(C) provide the learners enough opportunities to relax in
a language classroom.

(D) have the sole aim of introducing variety in a
language classroom.

Select the word with correct spelling for filling in the
blanks in the given sentences.

Please be
(A) breef (B) breif
(C) brif (D) brief

Select the word with correct spelling for filling in the
blanks in the given sentences.

There is no much ... in the results.

(A) difference (B) differense

(C) diferense (D) diference

Select the word with correct spelling for filling in the
blanks in the given sentences.

Give me a proper ......... for this payment.
(A) recipet (B) riciept
(C) receipt (D) receept

Select the word with correct spelling for filling in the
blanks in the given sentences.

Keep ........ don't make a noise.
(A) quite (B) queit
(C) Silent (D) gwait

Direction (40-44) Read the following passage and answer
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the questions that follow.

You have all seen birds flying. For thousands of years
men watched the birds and wondered how they had this
marvellous gift of flying. Looking at these birds, man
first begain dreaming about going up in the sky. Men
tried to copy these birds. They tried to make big kites
which could carry them up. The tried various methods
but could not fly. One winter night a man was sitting
near the fire. While looking at the fire he saw smoke
rising from it. The man watching the smoke wondered if
the smoke could also take other things up with it. He
made a bag of silk and burnt some paper below it. As
soon as the smoke collected in the bag it started rising
up.

Several other people also tried this experiment and
were successful. They made bigger and bigger bags
and filled them with hot air. In big balloons they put
animals.

in a small cage and sent them up in the air. When the
animals returned safely they sent up a man in a
balloon. Balloons could fly only in the direction in which
the wind blow. Improvements began to take place and
the balloons could stay in the air much longer.

Some people were also trying to experiment with other
methods of flying in the air. One new method was of
flying in gliders. A glider is like a present day aeroplane,
but has no machine or engine. Unlike the balloons, the
pilot of a glider can control the direction of travel but the
glider can stay up only as long as the currents of air can
support it.

In America, two brothers, Wilbur and Orville Wright.
were carrying out experiments at the same time. They
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were known as the “Wright Brothers”. They worked
hard and tried several experiments. In 1903, they were
able to make a machine which could fly in the air.
Although the first really successful flight took place in
1903. an lItalian named Leonardo da Vinci had though
of a rough form of an aeroplane more than five hundred
years ago.

The first machine was not very good. Before showing it
to the people many improvements had to be made. The
people were delighted to, see the machine fly. The
public gradually began to take interest in these
machines.

40.  What made man dream of flying in the sky?
(A) Flight of an aero plane (B) Flight of birds
(C) Rise of smoke (D) Flying kites

41.  Wright Brother invented the-

(A) glider (B) balloon

(C) engine (D) flying machine
42.  Leonardo da Vinci belonged to-

(A) ltaly (B) German

(C) America (D) England

43. A glider can remain in the air Only as long as-
(A) the pilot can control its direction
(B) the fuel lasts
(C) the current of air supports it
(D) the day light remains

44. A balloon rises up by the power of-
(A) engine (B) diesel
(C) hot air (D) petrol

Direction (45-49) Read the passage carefully and answer the
questions that follow by selecting the correct/most
appropriate options.

Had | the heaven’s embroidered cloths, Inwrought with
golden and silver light, The blue and the dim and the
dark cloths. Of night and light and the half-light, | would
spread the cloths under your feet: But I, being poor,
have only my dreams; | have spread my dreams under
your feet; Tread softly because you tread on my
dreams.

45.  What is the rhythm or pattern of sounds in this poem?
(A)ABABCDCD (B)ABCDABCD
(C)AABBCCDD (D)ABCABCDD

46. The heaven embroidered cloths would be decorated

with?
(A) Gold (B) Silver
(C) Diamond (D) Both Aand B

47. What does the poet want to do with heaven’s
embroidered cloths?
(A) He will make dresses out of it
(B) He will cover his feet with it
(C) He will spread under someone’s feet
(D) He will give it to the poor

48.  The colours and shades of cloth may refer to?
(A) Ground (B) Heart
(C) Sky (D) Heaven

49.  What do you think this poem might be?
(A) Poet’s lust for expensive things
(B) A love proposal
(C) A social commentary on the rich
(D) A fantasy world

Fb:-

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.
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In the words ‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’,
‘and light’, ‘the half-light’, which literary device you can
trace?

(A) Onomatopoeia
(C) Hyperbole

(B) Visual imagery
(D) Personification

In teaching of English, which skills play most significant
role?

(A) Reading and writing (B) Reading and listening
(C) Speaking and listening (D) Speaking and writing

Advantages of using chalk board in the classroom does
not include:

(A) It is generally available and is in-expensive.

(B) It does not require advance preparation of visual
aids.

(C) It is very useful in presentation which requires much
erasing, e.g. Mathematical calculations.

(D) Teacher cannot see the reaction of the student
while writing.

Pre-reading activity is meant for-

(A) teaching the grammatical items given in the text.

(B) connecting previous knowledge and taking the
learner into the text.

(C) connecting the whole class with one another.

(D) giving information about the writer of the text.

The term ‘linguistic competence’ is associated with
which one of the following approaches/ methods to
ELT?

(A) Direct method

(B) Grammar-Translation method

(C) Communicative-approach

(D) Structural approach

Which of the following is a lexical word?
(A) Principal B) If
(C) Some (D) Whether

Use of grammar, and spelling pertains to.
(A) text production while writing

(B) formal speech

(C) listening to a lecture

(D) informal conversation

Remediation, when students find difficulty in the use of
different 'modals' would be for them to.

(A) Be given ample practice in using modals in a set of
sentences.

(B) Frame sentences on their own and teacher corrects
them.

(C) Learn about the structures outside the classroom
through suitable activities.

(D) Practice by collaboratively completing tasks where
structures are used interactively, in a variety of real-life
situations.

How will a teacher best teach ‘writing’ skills to a class?
(A) By brainstorming ideas and asking students to write
in their own words.

(B) By asking students to write neatly.

(C) Through dictation.

(D) By asking students to learn articles and rewrite
them.

Language learners learn to do by doing. Which activity
supports this observation?

(A) Opportunities to practice as it helps with habit
formation.

(B) Encourage the use of their mother tongue to
promote better understanding of the meaning of a
prescribed text.
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

Fb:-

(C) Go from concrete to abstract texts.
(D) The teacher models the writing and speaking styles
which learners copy.

Rahul, one of the bright students of class all of sudden
started taking least interest in class activities and is
performing poorly in his class tests, what can be the
reason/s?

(A) Lack of directions and counseling

(B) Least interested in a particular subject

(C) Transfer of parents

(D) fear of failure

e Il (Hindi Languag
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Part-(IV): Mathematics and Science

If an angle equals two-thirds of its supplement, find the
measurement of the angle.
(A) 40°
(C) 70°

(B) 50°
(D) 72°

The sum of the place value and face value of 4 in the
number 3489 is.

(A) 404 (B) 1004

(C) 104 (D) 4004
How many decimeters in one meter?
(A)0.01 (B) 10

(C) 100 (D) 1000

10 ones + 10 tens + 10 thousand equals?
(A) 11100 (B) 101010
(C) 10110 (D) 11011

Two numbers are in the ratio 2 : 3. If their LCM is 24.
what is sum of the numbers?

(A) 28 (B) 20

(C) 64 (D) 72

96.

97.

98.

99.

100.

101.

102.
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108.

109.
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The mass of a brick is 2kg 250gm. What is the total
mass of 16 such bricks?

(A) 16kg (B) 36kg
(C) 38kg (D) 48kg
Fill in the blanks 79= ------- xOnes.
A7 (B) 9
(€79 (D) 97

If (the place value of 5 in 25301) +(the place value of 6
in 3650) =7 x ---- then the number in the blank space is.
(A) 600 (B) 700
(C) 800 (D) 900

Calculate the value of
0.77777+0.7777+0.777+0.77+0.7+ 0.07.

(A) 3.86274 (B) 3.80247
(C) 3.85274 (D) 3.87247
What is the value of 8U(Units)+9U(Units).
(A) 16 (B) 15

(C) 18 (D) 17

If three numbers are in the ratio of 1:2:3 and their h.c.f.
is 12, then the numbers are-
(A) 4, 8,12

(C) 12, 24, 30

(B) 12, 24, 36
(D) 5, 12, 15

The denominator of two fractions are 5 and 7. The sum
of these fractions is 41/35 and after interchanging the
numerator of these fractions their sum becomes 43/35,
the fractions are-

(A) 3/5, 417 (B) 2/5, 417
(C) 4/7, 217 (D) 3/5, 5/7
How much percent is 1 gm. of 1 kg.?
(A) 1% (B) 10%
(C) 0.1% (D) 0.01%

The number of students in a school is 100. The
students are increasing at 10% per annum. What will be
the number of students after 2 years?

(A) 120 (B) 121
(C) 122 (D) 111
The proper fraction in the following is-
(A)3/5 (B) 5/4
)15 (D) 9/3

What will be the ratio of the area of a square on the
side of a square to the area of the square on the
diagonal of the square?

1 (B)2:1
©13 (D)1:4
Simplified form of is 22

(A)0.5 ®)0.05

(C) 0.005 (D) 5.00

The value of 50 + [100- {35-(30-20)}]x2 is-
(9 (B) 50
(€100 (D) 200

. - 5.,2,2.,6.
Simplified from ofgx;+5T7|s

(A) 0.44 (B) 0.32
(C) 0.49 (D) 0.36
SO'UtiOﬂ Of 0.827><0.8207.6—504.'173+0.173 is —
A1 (B)2
3 (D) 4
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Direction (111-115) Answer the following questions by
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selecting the correct/most appropriate options.

Which one of the following is true about teaching and
learning of Mathematics in Class | and 11?

(A) Only oral Mathematics problems should be done in
Class | and Il

(B) Mathematics should be intergrated with other
subjects like language, art, etc.

(C) Mathematics should not be taught in Class | and II.
(D) Lots of opportunities for practice should be
provided.

It is important to conduct mathematical recreational
activities and challenging geometrical puzzles in the
class as?

(A) They bring students out of the monotonous and
boring routines of mathematics classroom.

(B) They give space to gifted learners.

(C) They are helpful to enhance spatial and analytical
ability of every learner.

(D) They can create interest in low achievers and slow
learners in mathematics.

As per NCF 2005, teaching of nhumbers and operations
on them, measurement of quantities, etc. at primary
level caters to the?

(A) Narrow aim of teaching mathematics

(B) Higher aim of teaching mathematics

(C) Aim to mathematics the child’s thought process

(D) Aim of teaching important mathematics

Ram is playing and putting three balls as follows:

9) O ©O O 0 0
00 0000 Q0Q0O0COO

Mohan is preparing a table looking to his play:

| -0 ‘ '
Number of O (Q signs 1 . v

Number of balls 3 6 9

What conclusion can be drawn from their work?

(A) Ram is playing and Mohan is doing mathematics.
(B) Both Ram and Mohan are trying to generalize.
(C) Both Ram and Mohan Eire playing only.

(D) Ram is doing mathematics and Mohan is playing

The process by which area weakness of a child in
Maths is identified, is known as -

(A) Written work (B) Oral work

(C) Remedial work (D) Diagnostic work

Shailja can express a number in different ways. For
example,4=2+2or4 =1+ 3 etc.

In which developmental phase of numbers is she?

(A) Quantifying phase (B) Partitioning phase

(C) Factoring phase (D) Operating phase

Factors of will be[l — (;

(A) ab)i-ath) . (B) (L+a-b)(l+a+b)
(C) (1+a-b)(1-a-b)

(D) (1+a+b)(1+a+b)

Shyam bought biscuits for Rs 225 and a packet of chips

for Rs 115.How much money will he pay to
shopkeeper?

(A) Rs 240 (B) Rs 340

(C) Rs 440 (D) Rs 345

1109.

120.

121.

122.

123.

124.

125.
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127.

128.

129.

130.

131.

132.

133.

134.
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A tank contains 256L of Milk, which can be filled
completely in 16 jars of the same size. how much milk
will be there in 25 such jars.

(A)300L (B) 400 L
(C)455L (D) 550 L
Which of the following fraction is the highest?
(A) 13/17 (B) 14/15
(C) 11/13 (D) 17/18

Where is bile produced in human body?
(A) Liver (B) Intestine
(C) Gall bladder (D) Spleen

Mushrooms is belonging to which of the following?

(A) Algae (B) Fungi

(C) Lichens (D) Ferns

Human bone does not contain which of the following?
(A) Calcium (B) Carbon

(C) Oxygen (D) Phosphorous

Which is the CORRECT pair of inherited chromosomes
for the child to be a girl?

(A) X from father and Y from mother

(B) Y from father and X from mother

(C) Y from father and Y from mother

(D) X from father and X from mother

Blood is formed by which type of Tissues?
(A) Connective Tissue (B) Muscle Tissue
(C) Epithelial Tissue (D) Neuron Tissue

Bambusa Dendro Calmus is the scientific name of .
(A) Banyan (B) Papaya
(C) Bamboo (D) Pomegranate

Which-of the following is antibiotic?
(A) Streptomycin (B) Tetracycline
(C) Erythromycin (D) All of the above

Bleeding and rupturing of blood vessels is prevented
by-

(A) Vitamin A (B) Vitamin C

(C) Vitamin E (D) Vitamin K

Which one of the following organs has the capacity of
regeneration?

(A) Spleen (B) Kidney

(C) Brain (D) Liver

Pyruvic acid is formed at the end of-
(A) Calvin Cycle (B) Glycolysis
(C) Kreb cycle (D) Pentose

Oxygen released during photosynthesis of green plant
comes from the breakdown of which of the following?
(A) Carbon dioxide (B) Fatty acid

(C) Carbohydrate (D) Water

Leaves of which of the following plants are not used for
the rearing of silkkworms?
(A) Mulberry

(C) Oak

(B) Castor
(D) Teak

Zika disease is caused by-

(A) A virus transmitted by Aedes Mosquitoes
(B) HIN1 Virus

(C) Poliomyelitis Virus

(D) The Varicella- Zoster Virus

In whole body mass the percentage of blood is
(approx.)-
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(A) 12% (B) 7%

(C) 10% (D) 5%

Azolla Anabaena is used as fertilizer in growing the
crop-

(A) Wheat (B) Rice

(C) Mustard (D) Cotton

The oil used in the froth floatation process is-
(A) Coconut oil (B) Olive oll
(C) Kerosene oil (D) Pine all

The material which can be deformed permanently by
heat and pressure is called a.

(A) Thermoplastic (B) Thermoset

(C) Chemical compound (D) Polymer

The gas used in the manufacture of vanaspati from
vegetable oil is.
(A) Hydrogen
(C) Nitrogen

(B) Oxygen
(D) Carbon dioxide

The ionic radii of N3-, O2-, F- and Na+ follows the
order.

(A) N3- > 0% > F- > Na+
(C) Na+ > O2- > N3- > F-

(B) N3- > Na+ > 02- > F-
(D) O2- > F- > Na+ > N3-

Which of these is a hydronium ion?
(A) H+ (B) HO -
(C) H2+ (D) H30O+

The most electropositive elements among the following
is?
(A) Na
©)K

(B) Ca
(D) Cs

The gas used for artificial ripening of green fruit is .
(A) Ethylene (B) Ethane
(C) Carbon dioxide (D) Acetylene

What is the name of the nuclear reactor at trombay?
(A) Bhaba (B) Venus
(C) Aryabhatta (D) Apsara

Light from the star, Alpha Centauri, which is nearest to
the earth after the sun, reaches the earth in

(A) 4.2 seconds (B) 42 seconds

(C) 4.2 years (D) 42 years

Mirage is due to-

(A) Unequal heating of different
atmosphere.

(B) Magnetic disturbances in the atmosphere.

(C) Depletion of ozone layer in the atmosphere.

(D) Equal heating of different parts of the atmosphere.

parts of the

Metals are good conductors of electricity because-
(A) They contain free electrons

(B) The atoms are lightly packed

(C) They have high melting point

(D) All of the above

Magnetism at the Centre of a bar magnet is
(A) Maximum (B) Minimum
(C) Zero (D) All The above

out of the following, which is not emitted by radioactive
substance?

(A) Electrons

(B) Electromagnetic radiations

(C) Alpha particles

(D) Neutrons

149.

150.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.
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Lux is the Sl unit of-
(A) Intensity of illumination (B) luminous efficiency
(C) luminous flux (D) luminous intensity

Point A is at a lower electrical potential than point B. An
electron between them on the line joining them will.

(A) Move towards A

(B) Move towards B

(C) Move at right angles to the line joining A and B

(D) Remain at rest

Part-(V): Social Studies/Social Science|

A teacher wants to explain the concept of breathing to
second grade students. Which of the following activities
is least effective?

(A) Role play as lungs, oxygen and carbon dioxide.

(B) Feel and observe their breathing before and after
running.

(C) Puzzle activities to arrange in order of breathing.

(D) Reading and explaining from their text book.

Animals that awake at night can see —
(A) All colours (B) Only black and white
(C) Only red or green (D) Can see some colours

In our food an indigestible material is known as -
(A) Carbohydrates (B) Fats
(C) Roughage (D) Minerals

From the following which is not related to significance of
environment;

(A) Locates and comprehend relationship between
natural, social and cultural environment.

(B) Engage in exploratory and hands on activity.

(C) Help in learning all the definitions and concepts for
getting good marks.

(D) None of these.

First metro rail started in which city?
(A) Kolkata (B) Mumbai
(C) Lucknow (D) Delhi

A teacher in an EVS classroom narrates a story about a
girl in a village with scarce water supply and gives an
assignment to students to find out how the water is
used in their family and locality. On completion of this
task, teacher will accomplish following learning
outcomes.

I. Know about the water supply in their area

Il. Appreciate the need to save water

Il. Identify activities causing wastage of water

(A) 1 &Il B) &l

(O REAIl (D) None of these

Environmental science can be applied to which of the
following domain?

(A) In the industry

(B) In research and development

(C) In human health and sanitation

(D) All of the above

Fangs are present in which of the following reptiles?
(A) Tortoise (B) Crocodiles
(C) Snake (D) Lizard

Biotic environment includes?
(A) producers (B) consumers
(C) decomposers (D) All of these

Simple experiments and demonstrations can be
performed in the EVS class?

(A) To enable children to learn on their own and
sharpen their observation skills.
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(B) To follow what is being done in the senior classes.
(C) To discuss ideas, record and analyse observations
on the basis of questions raised by students.

(D) To control the students to ensure discipline in the
class.

The forestry day in our country is observe on-
(A) 2nd October (B) 1st July
(C) 10th August (D) 1st December

Water borne disease is-
(A) Diarrhoea
(C) Anemia

(B) Small pox
(D) Encephalitis

The cause of air pollution is-
(A) Insecticides
(C) Smoke

(B) Seawage
(D) Sound amplifiers

The medicine 'Quinine' is obtained from which of the
following?

(A) Money Plant

(C) Eucalyptus Plant

(B) Chinkona Plant
(D) Aconite Plant

71% of the earth's surface is covered with-
(A) Land (B) Air
(C) Water (D) Coal

The main cause behind the water crisis in the world is-
(A) Urbanisation (B) Industrialisation
(C) Global temperature rise (D) Acid rain

Which of the following is not an evergreen tree?
(A) Neem (B) Tamrind
(C) Acacia (D) Mulberry

The author of the National Anthem is-
(A) Bankim Chandra Chattopadhyaya
(B) Ravindra Nath Tagore

(C) Mohamad Igbal

(D) Maithlisharan Gupt

First Biogas Plant in India has been setup at-
(A) Pilani (B) Jaipur
(C) Agra (D) Delhi

‘Decibel’ is the unit to measure which of the following?
(A) Depth (B) Sound
(C) Temperature (D) Air pressure

Who built “Lion pillar” in Sarnath?
(A) Chandragupt Maurya  (B) Ashoka
(C) Akbar (D) Sikander lodi

Where is the Wildlife Institute of India located?
(A) New Delhi (B) Gurugram
(C) Dehradun (D) Shimla

The important skills which are required to understand
and read a map are-

(A) Perfect drawing skills

(B) Good mathematic calculations and an analytical
mind

(C) Ability to comprehend coordinates, places and
directions

(D) Excellent communication skills

What is the purpose of conducting classroom activities
with regard to elements of environment in EVS?

I. Conduct specific observation

1. Collect similarities or differences among objects

Ill. To extend children’s ideas and understanding

IV. To enable children to progressively ask higher order
questions.

115.

(A) 1 &Il
©)1&1l

)&l
(D) 1l & IV

Which of these is not a layer of understanding as per
NCF 20057

(A) Ethics

(C) References

(B) Comprehension
(D) Relational

Direction (116-120) Answer the following questions by

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.
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selecting the most appropriate option.

While doing experiments and practical work, Shyama's
performance is the best in her class. She is considered
a very creative person. So, she is learning a concept by
(A) Imitation (B) convergent thinking

(C) divergent thinking (D) Modeling

Shifting cultivation, also known as ‘Jhuming Cultivation’
is most widely practiced in which parts of India?

(A) North Eastern India (B) South Western India
(C) North Western India (D) Central parts of India

Formation of green algae due to the excessive nutrient
discharge in the water surface is known as?

(A) Neutralization (B) Eutrophication

(C) Amensalism (D) Fungal sprouting

According to Kurt Lewin, from the following which is not
included in the types of environment?

(A) Physical environment

(B) Psychological environment

(C) Religious environment

(D) Social environment

From the following what is included in environment
issues?

(A) Global warming
(C) Acid rain

(B) Ozone depletion
(D) Al of these

On imprisonment in 1908 by the British, Bal Gangadhar
Tilak was sent to -

(A) Andaman and Nicobar
(C) Singapore

(B) Rangoon
(D) Mandalay

Who said, "A living thing is born" after the League of
Nation's Covenant was drafted?

(A) Winston Churchill (B) Woodrow Wilson

(C) Napoleon Bonaparte (D) Benito Mussolini

Which among the following Mughal Emperor was
illiterate?
(A) Shah Jahan
(C) Akbar

(B) Aurangzeb
(D) Babur

The founder of the Parsi religion-
(A) Laotse (B) Kung-fu-su
(C) Joroster (D) Mikado

Who was the founder of the Sayyid dynasty?
(A) Khizr Khan (B) Mubarak shah
(C) Mohammad shah (D) Alam shah

Which of the following pairs is not correctly matched?
(A) Hector Munro - Battle of Buxar

(B) Lord Hastings — Anglo — Nepal War

(C) Lord Wellesley - Fourth Anglo- Mysore War

(D) Lord Cornwallis - Third Anglo - Maratha War

Mahatma Gandhi advocated a
(A) Local
(C) Decentralized

economy.
(B) Centralized
(D) Global
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The countries that are members of the European Union,
but not members of the euro zone are-

(A) Luxembourg, Netherlands and Albania.

(B) Armenia, Belarus and Portugal.

(C) Czech Republic, Malta and Finland.

(D) Romania, Sweden and Bulgaria.

The map originated from word ‘Mappa’, which language
is it?

(A) German
(C) Latin

(B) English
(D) Hindi

Which one of the following countries of South-West
Asia has not spread to the Mediterranean Sea?

(A) Syria (B) Jordan

(C) Lebanon (D) Israel

Turkey is located in which of the following?
(A) Black Sea and Caspian Sea

(B) Black Sea and Mediterranean Sea

(C) Gulf of Suez and Mediterranean Sea
(D) Gulf of Agaba and Dead Sea

Where India is located of the following?
(A) Southwest Asia (B) South Asia
(C) Southeast Asia (D) Central Asia

‘Rule of Law’ concept has been taken in the Indian
Constitution from?
(A) USA

(C) Switzerland

(B) England
(D) Ireland

74t Amendment of the Constitution is related to-
(A) Rural Local Self-Government

(B) Urban Local Self-Government

(C) Powers of the President

(D) Powers of the Parliament

Which Part of the Constitution has the provisions for
Panchayati Raj System?
(A) IX
©m

(B) VI
(D) IV

The joint sitting of the Lok Sabha and the Rajya Sabha
of states is summoned by?

(A) The President

(B) The Speaker of the Lok Sabha

(C) The Parliament

(D) The Chairman of the Rajya Sabha

From the bark of which plant quinine extracted?
(A) Eucalyptus (B) Cinchona

(C) Neem (D) Cedar
Which plant is called Herbal —Indian Doctor?
(A) Neem (B) Amla

(C) Mango (D) Tulsi

Due to the presence of which substance, hot peppers
produce a burning sensation in our mouth?

(A) Corolla (B) Calyx

(C) Caffeine (D) Capsaicin

Is there a legally reserved area for wildlife in its natural
surroundings?

(A) Biosphere Reserves
(C) Social forest

(B) Sanctuary
(D) National park

On turning the glass on the burning candle, it
extinguishes after a while, whose unavailability is due to
it?

(A) Oxygen

(C) carbon dioxide

(B) Water vapour
(D) Wax

142.
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Which of the following valleys has the highest
biodiversity in the valley?
(A) Flower Valley
(C) tranquil valley

(B) Surma Valley
(D) Kashmir Valley

Which layer of the atmosphere is responsible for the
north polar light?
(A) Troposphere
(C) lonosphere

(B) Stratosphere
(D) Exosphere

How much is the temperature on the solar page?
(A) 800°C (B) 600°C
(C) 6000°C (D) 10000°C

When did the Wildlife (Protection) Act come into force in
India?

(A) 1982
(C) 1972

(B) 1962
(D) 1992

Due to deforestation?
(A) Sail erosion
(C) Land conservation

(B) Fertile soil of soil
(D) Pollution

Dudhwa National Park is located in which state?
(A) Assam (B) Madhya Pradesh
(C) Uttar Pradesh (D) Karnataka

In which state the sun is the first of which of the
following?
(A) Assam
(C) Arunachal Pradesh

(B) Mizoram
(D) Nagaland

In which state is the Kavti Waterfalls located?
(A) Madhya Pradesh (B) Uttar Pradesh
(C) Maharashtra (D) Karnataka

Bishop Waterfall is in which state?
(A) Meghalaya (B) Manipur
(C) Mizoram (D) Nagaland
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: Child Development & Pedagogd

Every child can learn a teacher's vision.

The child learns in many ways.

In relation to the errors made by the student in
the learning process, the errors are part of the
learning process.

Madhu is weak in mathematics. The reason for
a good teacher's weakness in his mathematics
is that the method of mathematics teaching can
be flawed.

A good teacher always encourages students to
learn.

According to the National Curriculum Framework
2005 (NCF-2005), the main objective of
mathematics education is to develop logical
thinking and problem- solving skills in children.

is a characteristic of a mentally healthy teacher
- he is sensitized equally.

A very important purpose of education is the
overall development of the child.

Gifted child naturally brilliant with a high degree
of general mental ability or extraordinary ability
in a specific sphere of knowledge. They
commonly learn basic skills better, more quickly
and with less practice.

Exceptional children are classified based on the
area or mode of deviation as:

* Intellectual deviance

» Sensory deviance

» Motor deviance

* Personality deviance

» Educational deviance

* Social deviance

* Traumatic brain injury

* Multiple deviances

Among the above-mentioned deviances, speech
impairment is associated with motor deviance.
The above-mentioned quality exhibits the
intellectual ability of the learner, a learner who
has high level of language development and
verbal ability is intellectually stronger. These
have general intellectual ability

Benjamin Bloom identified six levels within the
cognitive domain. In this domain he used
following cognitive verbs to analyse the given
information.

* Appraise

+ Calculate categorise

» Compare

* Contrast

» Criticise

« Differentiate

+ Distinguish

* Examine

intrinsic motivation occurs when we act without
any obvious external rewards. We simply enjoy
an activity or see it as an opportunity to explore,
learn and actualize our potentials. Engaging in a
hobby, anxiety and Need for achievement are
example of intrinsic motivation.

Autocratic teaching strategy is teacher-centred
method. Teachers exercise full control over
students. Autocratic teaching strategy is given
below.

* Lecture method

* Demonstration method

« Story telling method

* Tutorial method

Any teacher should enhance in his classroom
the process of learning language through
different means as well as should teach to
respect each-others language.

Ans.16(C)

Ans.17(C)

Ans.18(B)

Ans.19(B)
Ans.20(B)
Ans.21(A)

Ans.22(C)

Ans.23(A)

Ans.24(C)

Ans.25(C)

Ans.26(C)

Ans.27(B)

Ans.28(D)
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The failure of a child is also the failure of the
syllabus pedagogy and assessment. Hence, we
need to reflect upon all these points before
making any judgment about the students.

To avoid failure or to tackle it when it looks
likely, both parents and teachers must get
involved. They can do this by involvement of
parents, skill development, increase in the
motivation.

To have confidence that a test is valid, and thus
the inferences we make based on the test
scores are valid, three kinds of validity evidence
are-

(A) construct- it is the extent to which the
content of the test matches the instructional
objectives.

(B) Criterion- it is the extent to which scores on
the test are in agreement with or predict an
external criterion.

(C) Content- it is the extent to which an
assessment corresponds to other variables, as
predicted by some rationale or theory.

Stability is a parameter for measuring the
reliability of a test.

Through Instructions, only Cognitive effect could
be developed and not effective and
psychometric aspects, still holds an important
involvement as it can divert the students' mind
towards the objective. So, Instruction is the right
answer.

According to Krathwohl, there are three area of
learning.

» Cognitive  « Affective » Conative
Autism spectrum disorder (ASD. is a brain-
based condition — that is, where the brain hasn’t
developed in a typical way.

Early childhood stage (2 to 6 years age group): -
this stage is labelled by the parent as the
problem, the troublesome, the toy age.

All the options given in the question about
growth are correct except option C. i.e. it is not
necessary that growth always bring
development for example if a child becomes fat
may not bring any qualitative improvement.
Operative intelligence involves all actions, overt
or covert, persons of interest. The process of
understanding and change involves two basic
functions: assimilation and accommodation.

Lev Vygotsky in 1978 states: “Every function in
the child’s cultural development appears twice:
first, on the social level, and later, on the
individual level. The first level is between the
people and second is inside the child.
Intelligence Quotient 1Q represents the degree
of brightness possessed by an individual.

_ma
IQ = 5 x 100

Where MA is
chronological age.
Learning and expressing feelings are the
example of progressive achievement of
development.

Weight, height, head circumference, mid upper
arm circumference and the eruption of teeth are
the various measurements that are used to
measure growth.

To remove the gender differences, the
classroom should have equal environment for
boys and girls. It is a responsibility of a teacher
to make classroom environment equal and
unbiased.

Individuals are not similar, they are unique.
Children of same parents and even the-twins
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Ans.29(A)

Ans.30(C)

are not similar. This differential psychology is
related with the study of individual differences.
Physical, mental, social and cultural differences
are being studied under the individual
differences.

According to the Jean Piaget's theory of
relationship between language and thought:
“Thought determines Language”. According to
him thinking is the basic need and necessity to
learn a language.

Principle of Continuity goes form womb to tomb
and never ceases. An individual starting his life
from a tiny cell develops his body, mind and
other aspects of his personality through a
constant stream of development in these
various dimensions.

English Language

Ans.31(A)

Ans.32(C)

Ans.33(D)

Ans.34(A)

Ans.35(B)

Ans.36(D)
Ans.37(A)
Ans.38(C)
Ans.39(C)
Ans.40(B)

Ans.41(D)
Ans.42(A)
Ans.43(C)

Ans.44(C)
Ans.45(A)

Fb:-

There are some variations on reading
comprehension assessments, however. For
example, instead of explicit questions about
facts directly presented in the text, the child
could be asked to answer inferential questions
about information which was implied by the
text, or the child’s comprehension might be
tested by his or her ability to retell the story in
the child’s own words or to summarize the main
idea or the moral of the story.

Pedagogical knowledge includes knowledge of
content knowledge of method. Pedagogical
content knowledge is a type of knowledge that is
unique to teachers, and is based on the manner
in which teachers relate their pedagogical
knowledge to their subject matter knowledge.
After completing the reading part it is the
responsibility of the teacher to provide best
exercise part to his/her students. A perfect prose
always contains skillful vocabulary and perfect
writing skills. So, the teacher should make sure
that he/she provide appropriate exercise of
grammar, vocabulary and various writing skills.
Language rich environment is the most
important in learning a language. Language
development in a child happen the best in a
language-rich environment. Child understands
better when his environment provides learning
in language in which he have much knowledge.
Learners are involved in individual activities,
pair work, group work and whole-class work
because these afford the learners opportunities
to use the language in a focused manner for
real-life interaction.

Whilst pair work and group work are the staple
of the communicative’ classroom, and are the
fundamental way in which teachers can give
learners the opportunity to practice what they
have been exposed to meaningfully.

Please be brief

There is no much difference in the results

Give me a proper receipt for this payment.

Keep Silent don't make a noise.

Flight of bird made man dream of flying in the
sky.

Wright Brother invented the flying machine
Leonardo da Vinci belonged to Italy

A glider can remain in the air Only as long as
the current of air supports it

A balloon rises up by the power of hot air

The every other line have the same word and
the natural stress that is properly pronounced in
each word helps to create the rhythm or pattern
of sounds, ABABCDCD.

Ans.46(D)
Ans.47(C)
Ans.48(C)

Ans.49(B)

Ans.50(B)

Ans.51(C)

Ans.52(D)

Ans.53(B)

Ans.54(C)

Ans.55(A)

Ans.56(A)

Ans.57(D)
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In the second line the poet talks about the
heaven embroidered cloths which would be
decorated with gold and silver.

The fifth line of the poem makes it clear that he
will spread under someone’s feet maybe his
lover.

‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’, ‘and
light, ‘the half-light are all the shades of the
sky.

Something which is totally priceless, whose
value cannot be measured in gold and which
must be kept in a safe and secure place at all
times. He then says that if he had such an item
then he will lay it down at her feet. This clearly
shows that the desire to impress her outweighs
the price of that priceless item. It means he is in
love with someone. So, it is a love proposal.
Visual imagery makes use of particular words
that create visual representation of ideas in our
minds. ‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’,
‘and light’, ‘the half-light' are all the shades of
the sky and with it the poet creates ideas of
colours in our mind.

In teaching of English and other subjects,
speaking and listening skills play most significant
role. Without these skills teaching learning is not
possible. The more opportunities that children
get to listen and speak, the faster they learn and
speak, the faster they learn language and it
naturally becomes their own language, hence
maximum exposure should be given.

It is probably the most widely used and versatile
tool of instruction. It provides a very convenient
surface. Where the communicator can develop
subject matter visually in a manner and at a
pace to suit the subject and the pupils. It
requires a chalk and an eraser.

Pre-reading activities cover a range of
possibilities, all directed at helping learners
engage in a process of discovery and to feel
authorized to engage with the form and content
of the text. It makes the learners to be involved
in the learning process, here 'law of readiness'
is presented. The 'law of readiness ' states that
if the learner is ready to learn the concepts then
he/she grasps the things more easily. Pre-
reading is the process of skimming a text to
locate key ideas before reading a text (or a
chapter of a text) carefully from start to finish.
Also called previewing or surveying. Pre-
reading provides an overview that can increase
reading speed and efficiency.

It is distinguished from linguistic performance,
which is the way in the language system that is
used in the communication process. Linguistic
competence is the knowledge of how to use the
grammar, syntax and vocabulary of a language.
The lexical word (= a full word, lexeme, lexical
item) means the word in terms of content
relates to things, actions, and states in the
world. Principal is a lexical word.

Writing skills are an important part of
communication. Good writing skills allow you to
communicate your message with clarity and
ease to a far larger audience than through face-
to-face or telephone conversations. Correct
grammar, punctuation and spelling are key in
written communications.

Remediation, when students find difficulty in
the use of different 'modals' would be for them
to practice by collaboratively completing tasks
where structures are used integratively, in a
variety of real-life situations.
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Ans.58(A)

Ans.59(A)

Ans.60(A)

By brainstorming ideas and asking students to
write in their own words, a teacher best teach
‘writing’ skills to a class. Writing is an important
part of our daily lives. It is, however, a difficult
skill to learn and master. By getting a head start
with some simple activities, you can help your
child begin to develop her writing skills at an
early age. By doing so you will be contributing to
her future success as a student and as an adult
while teaching her how to express herself.
Children require multiple exposures to words in
order to develop a rich understanding of their
meaning and use. Teachers should make a
point of introducing interesting new words for
children to learn into each classroom activity.
Teacher should provide opportunities for self-
directed activities so that students can choose
activities that match both their interests and
their language abilities.

First preference will be given to option 'a’, it is
the responsibility of parents and teachers to
direct and guide students at this stage. Lack of
guidance and support can always demoralize
the child, distract them from studies.

Ans.61(B)

Ans.62(D)

Ans.63(A)

Ans.64(C)

Ans.65(B)

Ans.66(A)

Ans.67(B)

Ans.68(D)

Ans.69(C)

Ans.70(A)

Ans.71(D)
Ans.72(A)
Ans.73(B)

Fb:-

e Il (Hindi Languag

UISIYEI® & T Uy H T Heayyl 7, Riemlf &
RIS TR & ey favg I 2t & gR1 9= &t
T Al B U] JHY YHT SR 39 WR TE ¥ fidT
S R B
Re/p BT TR IRT U REUr BT GHIS T B
gl e & o a8 snawe @ 6 Iud falkiy
PRI BT I St Rigor sive & Aafor 8g
Rigres &1 Rraon fargelt &1 w0 Mfd o<, g&q foari
DI RAFUYGH B, A & gd JH 3G BT &=
G A1
fafaa v &t famn smare farg 7= &t 79 ¥ wfdagds
TGHR SR A P BT DY A UG Bl Sl B
I It & 31 B UgT R g
Sierara 3R fafad ww & = Fraet &1 vaim gar s 32
AEIND HIHIUT PI T & WAl g1 B Bl
TSI B & WRIGS §-Ts oY | YRS wema &
S} &) DR P ATagING e < Sw| 39 s &
o g &1 e e TRu
Ui TR W §=1 Had T & HIW Tl § I o
& BT 8 | 3TN 39 TR Al Hem o aguiiisar gl
@ e & fore I8 U wifed g & T4 | TR gl
3T FRI&0T 3R UToushH ST B WH I BET HH-
Fff SfRTIT T UyUTd O SFMG BT 81 U 3R
AR Bt HHI Bl B
g & HAdl &1 [db™ &1 & o 8 & fafvm
UBR oI fOug Il Iudsy e Wl R 3F
fafta-fftem da @) dgax ord TgUr X U UG
IYHT U TS IUT GIRI B!+t T aree &1 98 U
d&au%@ﬂ%dwmwﬁqﬁml
fgaﬁﬁwﬁwsna@l%ﬁﬁw
aﬁaﬁamsﬁ fawt oY sirerara &R qof wife e
TGA &1 HRA & HIWT-URE=T &7 IR damr 1 36T
T & T N IUAN, HE Bt B BT e F97
:rgfgﬁa&u%wﬁmwwﬁrwm
[
-G R fHEs, e sid: st &1
I FEdIaRl SR YUR & U 9= &1 argar
HHNE TR < HRAT R
e TR & 9= DT AFRIG 3R HIffid TR 3T el
Bia1 {5 3 T ¥ BIE Hem! a1 HigdT forg S| 3afey
T HEH A IB SHihad Tet Rig 781 gl
fe=< B ol IRy TRAN Uy A g2 B
o<t 1T o TR & O WdF U I dict a1 forg o) €1
I Xeg; ST WG BT yaard! a1 |

Ans.74(A)
Ans.75(B)
Ans.76(C)
Ans.77(D)
Ans.78(B)
Ans.79(D)
Ans.80(B)
Ans.81(A)

Ans.82(C)

Ans.83(D)

Ans.84(B)

Ans.85(C)

Ans.86(D)

Ans.87(C)

Ans.88(B)

Ans.89(B)

Ans.90(D)

fofafed wsgl & ¥ Usaferd g U B

9 1o e} €, 39 THY I a1 9 I B

ot &1 s 2 fo T gaT AT 31

ThH fohaT § - dUMT

TSI & forg Suged Sifrared - |rex yomH

3T Xeg; T TeT 3|

HHG' Wsg H AT fARA90 BT el gt 2|

TR ¥ ¥ -y digrR 79 o § o v
repfas fafdudrsit &1 ey wv1d §, 371 9t AR 9
X BT T4 IRpTad ThdT 3R RIS BT ToTg
U gl gl

-3 Wb F AvT-3raw Hfa-Rarsil &1 g3
ST - Tepfaal @t ok 3 wrar g1 faftm
Gyl ¥ arrd # ol b e W U g, had 9 el
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oI f3ag T I Ud ©, T8 THR S Pl 0 S
9T A F Iuaed & T 91T 71 I8 foreht Hergey
 Teifia T R

AeR! B T ¥ P F Tt A ooy # Ara-gae
A § 1 S SR § Soey, SHT Ud WReTel 1R od g
ufar @1 o § 3 F ufa widd | e # daey
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Y sal F s a9 gU TP 41 Ud Tl Teg Y
AN HEd B o - T&'ﬂéao‘f%mm 28 g W
P IDPA I
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U Wee T & 9@ UeH PR &1 T8 TY Y UG
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3R BT HIS Y forT a1 9= ) gl
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Part-(1V): Mathematics and Science

Ans.91(D)

Ans.92(A)

Ans.93(B)

Ans.94(C)
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Let the angle be

Then,

A=2/3%(180-A)

3A=360-2A

5A=360

A=72

The value of a digit depends on its place, or
position, in the number.

The face value is the actual value of the digit,
i.e. the face value of 5is 5 and 0 is 0 and so on.
In this case, the face value of 4 is 4.

The place value is the face value of the digit
multiplied by its position (x unit, tens, hundreds
etc.)

In this case, the place value of 4 is 4x100 = 400
Therefore, the sum of place and face value is
400 + 4 = 404.

1 Meter = 10 decimeters

1 Decimeter = 0.1 Meter

Meter is a metric system base length unit and
the abbreviation is "m". The decimeter is a
metric length unit and equals to one-tenth of a
meter. and the abbreviation is "dm"

10 ones + 10 tens + 10 thousand
=10x1+10x 10+ 10 x 1000
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Ans.95(B)

Ans.96(B)

Ans.97(C)
Ans.98(C)

Ans.99(D)

Ans.100(D)

Ans.101(B)

Ans.102(A)

Ans.103(C)

Ans.104(B)

Ans.105(A)
Ans.106(A)

Ans.107(B)
Ans.108(D)

Ans.109(A)

Ans.110(A)

Fb:-

=10 + 100 + 10000

=10, 110

Let the numbers be 2x and 3x

LCM of 2x and 3x = 6x

(LCM of 2 and 3 is 6. Hence LCM of 2x and 3x
is 6x)

Given that LCM of 2x and 3x is 24

=> 6x=24

=> x=24/6=4

Sum of the numbers

=2x+3x=5x =5 x 4= 20

The mass of a brick is 2kg 250 gm.

Total mass of 16 such
bricks=16x2kg250gm=36kg

79x1=79, Therefore, 79 ones is equal to 79.
The place value of 5 in 25301=5000

the place value of 6 in 3650=600

Sum of both place value=5000+600=5600
According to question,

7x? =5600

Hence,?= 5600/7=800

0.77777
0.7777
0.777
0.77
0.7
0.07
3.87247
(8x1)+(9x1)
=8+9
=17
Ratio of three numbers = 1: 2: 3
Their HCF = 12
So, numbers =1x12, 2x12, 3x12 = 12, 24, and
36
Let the numerator of the first fraction be x and
the numerator of the other fraction be'y.
According to Question,
x/5 +yI7 = 41/35

7X + 5y =41 ---mmmmeee m
and, y/5 + x/7 =43/35
7Y + B5X = 43 - an

Multiplying 7 in equation (1) and 5 in equation (Il)
49x + 35y = 287

25x + 35y = 215

24x = 72 Upon the reduction,

x=3

Putting the value of x in the equation (1)

y=4

So, the desired fraction will be 3/5 and 4/7

1 kg = 1000 gm

Therefore, the desired percentage

= (100 x 1/1000) = 0.1%

Number of students after 2 years = 100 + (10%
of 100) + (10% of 110)

=110+11=121

Proper fraction is - 3/5

Area of square = a?

Area of the square formed on the diagonal

= (aV2)? = 2a?
Ratio = a?/2a2=1:2
¥0.9625 — 0.25/5 = 0.05

5
50 + [100- {35-(30-20)}]x2

=50 + [100- {35-(10)}]x2

=50 + [100- {25}]x2 = 50 + [75]x2 =50 + 150
=200

5.2 ,2,.6_5_2 2_7_°5 7 _ 12

s ot T T st sttty T
=4/9=0.44

0.827%0.827-0.173+0.173 _ 0.827%— 0.1732

0.654 0.654

Ans.111(B)

Ans.112(C)

Ans.113(A)

Ans.114(A)

Ans.115(D)

Ans.116(B)

Ans.117(A)

Ans.118(B)

Ans.119(B)

Ans.120(D)

Ans.121(A)

Ans.122(B)
Ans.123(B)

Ans.124(D)

Ans.125(A)
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_ (0.827+0.173) (0.827 —0.173)

0.654
=654 _
T 0654
Students learn more and make good sense of

what they are learning when they can make
connections with different areas of learning.
Correlating maths with other subjects makes
students think about why things happen, giving
them a practical approach to learning and using
maths. Integration of maths with other subjects
gives meaningful contexts for students rather
than having them to learn in isolation.

It is important to conduct mathematical
recreational activities and challenging
geometrical puzzles in the class as they are
helpful to enhance spatial and analytical ability
of every learner.

As per NCF 2005, teaching of numbers and
operations on them, measurement of quantities,
etc. at primary level caters to the narrow aim of
teaching mathematics.

From the given activity above, it is clear that
Ram is playing and Mohan is doing
mathematics.

The process by which area weakness of a child
in Maths is identified, is known as Diagnostic
work. Diagnostic assessment is a form of pre-
assessment that allows a teacher to determine
students' individual strengths, weaknesses,
knowledge, and skills prior to instruction. It is
primarily used to diagnose student difficulties
and to guide lesson and curriculum planning.
Shailja is at partitioning phase of the numbers
because she ‘is trying to understand the
numbers divided in parts.

=[([1-a+bj{1+a-b)]

Price of biscuits = Rs. 225

Price of a packet of chips = Rs. 115

Total money he will pay to shopkeeper

= Rs. (225+115) = Rs. 340

A tank contains=256L of Milk

One jar contains=256/16=16 L

Therefore 25 jar contains=25x16=400 L

We have check every option to find the exact
answer.

According to the question diver them individually
13/17 = 0.765

14/15=0.933

11/13=0.846

17/18 = 0.944

Since 0.944 is the highest, so 17/18 is the
highest fraction.

Bile or gall is a dark green to yellowish brown
fluid, produced by the liver of most vertebrates,
that aids the digestion of lipids in the small
intestine. In humans, bile is produced
continuously by the liver (liver bile), and stored
and concentrated in the gallbladder.

Mushrooms are a fungus, not a plant.
Mushrooms cannot undergo photosynthesis like
plants do.

Human bone consists mainly of tricalcium
phosphate (or hydroxyl apatite) 57-80%,
calcium carbonate 6-10% and carbon 7-10%.

A child will be a female if she inherits a double
dose of X (one from each parent) and no Y.
Blood is considered a connective tissue because
it has a matrix. The living cell types are red
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Ans.126(C)
Ans.127(D)
Ans.128(D)

Ans.129(D)

Ans.130(B)

Ans.131(A)

Ans.132(D)
Ans.133(A)

Ans.134(B)

Ans.135(B)

Ans.136(D)

Ans.137(2)

Ans.138(A)

Ans.139(A)

Ans.140(D)

Fb:-

blood cells, also called erythrocytes, and white
blood cells, also called leukocytes. The fluid
portion of whole blood, its matrix, is commonly
called plasma.

Bamboo

All of the above

Both calcium and vitamin K are needed to
synthesize Protein C, an anticoagulant that
prevents excessive coagulation after the
coagulation occurs. Deficiency of any of these
clotting cofactors will cause an impaired ability
for blood to coagulate, which can contribute to
excessive bleeding and hemorrhage.

The liver is the only organ in the body that can
grow cells and regenerate itself. It can actually
be split in half and transplanted into two different
recipients. A living personal also can have a
portion of his or her liver removed, and the
portion that remains will regenerate itself to
nearly its original size.

Pyruvic acid is formed as an end product of
glycolysis, a process that breaks down glucose
(a six-carbon molecule) into two molecules of
pyruvate (a three-carbon molecule) and
simultaneously yields a small net gain of the
universal energy storage molecule adenosine
triphosphate (ATP), used to power cellular
function.

Photosynthesis takes the carbon dioxide
produced by all breathing organisms and
reintroduces oxygen into the atmosphere.
Photosynthesis is the process used by plants,
algae and certain bacteria to harness energy
from sunlight and turn it into chemical energy.
Teak

Zika virus disease is caused by a Vvirus
transmitted primarily by Aedes mosquitoes,
which bite during the day.

Scientists estimate the volume of blood in a
human body to be approximately 7 percent of
body weight. An average adult body with a
weight of 150 to 180 pounds will contain
approximately 4.7 to 5.5 liters (1.2 to 15
gallons) of blood.

Azolla has been used as “green manure” in
several countries to fertilize rice paddies and to
increase rice vyields. Azolla—Anabaena is
capable of fixing nitrogen at higher rates than
legumes and is able to growth successfully in
waterlogged habitats having low level of
nitrogen.

Pine oil used in froth floatation process because
it does not have affinity towards water (because
of the hydrophobic chemicals as its
cconstituents) and it attracts impurities which
can be washed away.

The material which can be deformed
permanently by heat and pressure is called a
thermoset.

Hydrogen gas is used for making vegetables
and vanaspathi from vegetable oils. As it is
colourless, odourless, tasteless, flammable
gaseous substance, it is added to oils to make
them more solid or spreadable.

The ionic radii of N3-, O2-, F- and Na+ follows
the order N3- > O2- > F- > Na+

Hydronium is the common name for the
aqueous cation H 30+ the type of oxonium ion
produced by protonation of water. It is the
positive ion present when an Arrhenius acid is
dissolved in water, as Arrhenius acid molecules
in solution give up a proton (a positive hydrogen

Ans.141(D)

Ans.142(A)

Ans.143(D)

Ans.144(C)

Ans.145(A)

Ans.146(A)
Ans.147(C)
Ans.148(D)
Ans.149(A)

Ans.150(B)

ion, H+) to the surrounding water molecules
(H20).

The alkali metals are the most electropositive.
Cesium is the most electropositive of the stable
elements. Atomic no:55

Ethylene CH2CH2 gas is used for ripening of
fruits. It is a naural hormone used by the plants.
Acetylene produced from calcium carbide is
banned.

Trombay was the nymph name of nuclear
blocker.

Light from the star, Alpha Centauri, which is
nearest to the earth after the sun, reaches the
earth in 4.2 years.

Mirage is an optical illusion caused by
atmospheric conditions, especially the
appearance of a sheet of water in a desert or on
a hot road caused by the refraction of light from
the sky by heated air.

Metals are good conductors of electricity
because. They contain free electrons.
Magnetism at the Centre of a bar magnet is
zero.

Neutrons Out of the which is not emitted by
radioactive substance.

The Sl unit of intensity of
(illuminance) is the lux.

Point A is at a lower electrical potential than
point B. An electron between them on the line
joining them will Move towards B.

illumination

Part-(V): Social Studies/Social Science

Ans.91(D)

Ans.92(B)

Ans.93(C)

Ans.94(C)

Ans.95(A)

Ans.96(B)

Ans.97(D)
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Reading and explanation from text book will
become a monotonous activity and students
may lose interest whereas other three activities
will - encourage participation and fun way of
learning.

Animals that awake at daytime can see some
colours while that awake at night can see in
black and white colour.

Roughage is a fiber present in some food items
like fruits and vegetables. Though roughage is
not a food, it forms an important part of our
diet. Roughage consists mainly of cellulose.
Some functions of roughage are.

- it helps in bowel movement

- it cleans our digestive tracts and protects from
digestive ailments.

- it prevents constipation.

- it helps in retaining water in the body.

- it helps in maintaining optimum levels of blood
sugar and cholesterol.

Environment studies does not help in learning all
the definitions and concepts for getting good
marks because at primary level there is not
only aim to getting good marks there is more
focus on all round development of student from
their surrounding and by active participation of
their own.

First metro rail started in Kolkata. Now, it is
running in many cities of India like Delhi,
Jaipur, Chennai, Mumbai, Bengaluru.

The teacher is trying to accomplish that
children understand the importance of saving
water and identify activities that cause wastage
of water. By narrating the story of a girl by the
teacher make the student understand to the
difficulties faced by the people for safe drinking
water.

Environmental studies in the industry - due to
rapid pace of industrialization, our environment
has been affected badly. So in order to protect
environment from further degradation, there is
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growing trend to adopt environment friendly
process.

Research and devlopment - various research
projects and works are being undertaken in the
field of environment and its allied studies.
Human health and sanitation - there is a direct
relation between environment and human
health. Many of the diseases spread only by
unhygienic environment. For healthy and
disease-free life, pure and hygienic environment
is must so sanitation is imperative. Therefore,
study of human health and sanitation is
important aspect of environmental studies.
Reptiles such as snakes hear from the
vibrations coming out of a surface or land.
Snake do not have any external ear. They can
only feel vibration from the ground. Snake has
two hollow teeth known as ‘fangs’. When snakes
bites, poison enters only through fangs.
Medicine for snake bites are made from snake’s
poison.

There are many kinds of snakes in our country
only four of them are poisonous. They are
Cobra, Karait, Russel’s viper, saw- scale viper.
A biotic environment is the biological component
of an ecosystem and includes plants and
animals. This environment is a biological
community of interacting organisms with their
physical environment.

Demonstration experiments can clarify a
physical principle or show some interesting
application of a principle. Teacher has to make
sure that students in the back row, as well as
the front row, can see and hear what is going
on. The best demonstration experiments avoid
unnecessary detail — students can see and
understand the whole working arrangement.
Class experiments give students - direct
experience of physical phenomena. Just as
important, they allow students to practise being
scientists: discussing, developing hypotheses,
designing experiments, predicting outcomes and
returning to fresh hypotheses and more
experiments. They develop their powers of
observation, thinking and problem-solving.
Active learning follows the adage ‘hear and
forget, see and remember, do and understand’.
Van Mahotsav Day is celebrated on July 1 in
our country

Water-borne disease is diarrhea

The cause of air pollution is smoke.

Cincinnati Plant Receives 'Canine’ Medicine
71% of the water is covered with water

The main cause of water crisis in the world is
urbanization.

Mulberry is not evergreen tree.

The author of the National Song is Bankim
Chand Chattopadhyay

The first biogas plant in India was established in
Pilani.

'‘Decibel' is the unit of sound measurement.

Lion pillar at sarnath in uttar pradesh was built
by Ashoka in about 250 BCE.

* The pillar sometimes called the ashoka
coloum.

* The pillar is a symbol of the axis mundi
(Cosmic axis).

» Sarnath is the place of buddha first sermon,
where he shared the 4 nobles.

The Wildlife Institute of India was established
under Ministry of Environment Forest and
Climate Change. It was formed in the year 1982
and is located in Dehradun in a place called

Ans.113(C)

Ans.114(D)

Ans.115(A)

Ans.116(C)

Ans.117(A)

Ans.118(B)

Ans.119(C)

Ans.120(D)
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Chandrabani, close to forests of Dehradun. The
campus is approximately 180 acres. It is known
to carry out extensive research in the field of
wildlife management, ecology, climate change,
endangered species, wildlife forensics etc.

The important skills required to understand and
read a map is the basic ability to comprehend
and coordinate systems, places and directions.
Map reading skills can be enhanced by the use
of the GPS system on mobile phones and
trackers. Communication skills, drawing skills
and good mathematical calculation may add up
to attain complete success in terms of
understanding directions and thus get a better
picture of analyzing maps.

Various activities conducted are not only meant
for observation or collecting similarities or
differences but they have a higher objective of
extending children’s understanding so that they
ask higher order questions which require
different levels of reasoning and investigation.
As per NCF 2005, different layers of
understanding are:

1. Comprehension: Understanding the language.
2. References: Understanding terms and
concepts to refer to.

3. Epistemic: Understanding what counts as
evidence and how to seek evidence.

4. Relational and " significant: - Understanding
relation between different concepts and things.
Shyama's performance in practical is the best in
her class. She is considered a very creative
person. So, she is learning a concept by
divergent thinking. Divergent thinking is a
thought process or method used to generate
creative ideas by exploring many possible
solutions.

Shifting cultivation is a type of agricultural
system that is most widely practiced in the
North Eastern India. It is a technique where
land is cultivated temporarily and eventually
abandoned leaving the barren land to recover its
natural vegetation with time. The time lapse
between the land which is cultivated and left
fallow is very less hence this technique is highly
discouraged. It is also known as slash-and-burn
method.

‘Eutrophication’ is a Greek word meaning well-
nourished. This phenomenon usually occurs in
water bodies when it gets excessively enriched
by nutrients like nitrates and phosphates
resulting in multiplication of algae and plants
giving a green textured surface layer in the
water body. As a result, the organisms die due
to lack of atmospheric oxygen supply. Such a
state where the oxygen supply of marine
organisms becomes deficient for survival is
called hypoxia.

According to Kurt Lewin, Religious environment
is not included in the types of environment.
According to Kurt Lewin, environment is of
three types which influence the personality of
an individual as under:

(1) Physical environment

(2) Social and cultural environment and

(3) Psychological environment

It has been well recognized that environmental
issues like global warming, ozone depletion,
acid rain, marine pollution and biodiversity are
not merely national issues but are global issues
and hence must be tackled with international
efforts and cooperation.
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Tilak was sentenced to a jail term from 1908 to
1914 in Mandalay in Burma. While in prison,
Tilak read and wrote extensively and developed
his ideas on the Indian nationalism movement.
Woodrow Wilson said, “A living thing is born”
after the League of nation’s Covenant was
drafted. Woodrow Wilson (28 December 1856 —
3 February 1924) was an American 28th
President of the United States from 1913 to
1921.

Mohammad Akbar, (born October 15?, 1542,
Umarkot [now in Sindh province, Pakistan]—
died c. October 25, 1605, Agra, India), the
greatest of the Mughal emperors of India. and
he remained illiterate.

The Parsi religion is the ancient Indo-European
religion of Zarathushta the prophet Zoroaster
(Zarathrustra in ancient Persian) is regarded as
the founder of Zoroastrianism, which is arguably
the world's oldest monotheistic faith.

The Sayyid Dynasty was founded by Khizr
Khan, who was the governor of Multan and
Timur's deputy in India. This dynasty ruled for 37
years from 1414 to 1451 AD by four rulers- Khizr
Khan, Mubarak, Muhammad Shah, Alam Shah.
Lord Wellesley. Lord Wellesley remained
Governor General of Fort Williams from 1798 to
1805. During his tenure, the Fourth and last
Anglo- Mysore war was fought and Tipu was
killed in this war. The Second Anglo Maratha
war also happened in which Bhonsle, Scindia
and Holkar were.

Gandhi strongly advocated decentralization of
economic system. liberal socialists emphasized
the concept of decentralization of economic and
political.

Nine countries (Bulgaria, Croatia, Czech
Republic, Denmark, Hungary, Poland, Romania,
Sweden, and the United Kingdom) are EU
members but do not use the euro. Before joining
the eurozone, a state must spend two years in
the European Exchange Rate Mechanism (ERM
).

The word "map" comes from the medieval Latin
Mappa mundi, wherein mappa meant napkin or
cloth and mundi the world. Thus, "map" became
the shortened term referring to a two-
dimensional representation of the surface of the
world.

The countries surrounding the Mediterranean in
clockwise order are Spain, France, Monaco,
Italy, Slovenia, Croatia, Bosnia and
Herzegovina, Montenegro, Albania, Greece,
Turkey, Syria, Lebanon, Israel, Egypt, Libya,
Tunisia, Algeria, and Morocco; Malta and Cyprus
are island countries in the sea.

Turkey is situated in Western Asia (Anatolian
and Armenian highlands) and the Balkans,
between Mediterranean Sea and the Black Sea.
India is situatied in South- East Asia and is
bordered by Afghanistan and Pakistan to the
north-west; China, Bhutan and Nepal to the
north; Myanmar to the east; and Bangladesh to
the east of West Bengal.

England

74th Amendment and Municipalities in India.
Constitution (Seventy Forth Amendment) Act,
1992 has introduced a new Part IXA in the
Constitution, which deals with Municipalities in
an article 243 P to 243 ZG. This amendment,
also known as Nagar palika Act, came into force
on 1st June 1993.

Ans.135(A)
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Ans.149(A)
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Constitution 73rd Amendment and Panchayati
Raj in India. The 73rd Amendment 1992 added
a new Part IX to the constitution titled “The
Panchayats” covering provisions from Article
243 to 243(0); and a new Eleventh Schedule
introduced covering 29 subjects within the
functions of the Panchayats.

The joint sitting of the Parliament is called by the
President (Article 108) and is presided over by
the Speaker or, in his absence, by the Deputy
Speaker of the Lok Sabha or in his absence, the
Deputy-Chairman of the Rajya Sabha.
Cinchona is one of the rain forest's most
famous plants.

Quinine is an alkaloid derived from the bark
of the cinchonatree. It is used as an
antimalarial drug, and is the active
ingredient in extracts of the cinchona.

Amla is used to cure many ailments
naturally as well. That is why it is called
Herbal Indian Doctor.

Capsaicin is an active component of chili
peppers, which are plants belonging to the
genus Capsicum.

It is an irritant for mammals, including
humans, and produces a sensation of
burning in any tissue with which it comes
into contact.

Areas of Biosphere Reserve and Coastal
Ecology, which have international recognition in
the framework of UNESCO's Human and
Biosphere Program. These biospheres are
expected to meet the minimum criteria required
and meet -the minimum conditions before
granting the recognition of the World Network of
Biosphere Reserve, by UNESCO.

The glass is extinguished after a while on the
burning candle, it is due to the absence of
oxygen.

Most biodiversity is found in the tranquil valley.
The North polar light occurs in the plane of the
ionosphere of the atmosphere. This is an optical
phenomenon occurring at night in polar regions.
The earth receives its entire energy from the
sun. The sun is the body of excess gas which
has a surface temperature of 6000°C.

The Indian Wildlife Protection Act, 1972, was
passed by the Indian government in 1972 with
the aim of prohibiting the illegal hunting of
wildlife and the trade of bone and skins.

Today the forests are being harvested
indiscriminately, resulting in seasonal changes,
heat in the soil, lack of ozone layer etc. Our
development process has displaced thousands
of people from water, forests and land.

Dudhwa National Park is a protected forest area
located in Kheri district of Uttar Pradesh (India).
This place is present in Arunachal Pradesh,
where the sun rays come first, hence Arunachal
Pradesh is also called 'Land of rising sun' and
this thing becomes clear by its name too.

Kavti Waterfalls is in Madhya Pradesh. This
waterfall is located on the adjoining river
Mahana of Tamsa river in Rewa district of
Madhya Pradesh.

Bishop Waterfall is in Meghalaya. Bishop Falls is
a three-level waterfall with an altitude of 135
meters and is located in Shillong, Meghalaya.
Bishop Falls is often known as the twin brother
of Beadon Falls because of the two falls in the
same slope in the same tilt. This is the 22nd
highest peak of India.
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English Language

To evaluate reading comprehension at Class Il level,
students may be asked to.

(A) retell a story in their own words or to summarize the
main idea or the moral of the story.

(B) take a short dictation of what they have read.

(C) write a diary based on one of the characters.

(D) use a set of identified vocabulary on their own.

Pedagogical knowledge includes
(A) knowledge of content  (B) knowledge of method
(C) Both (A) and (B) (D) None of the above

What exercises the teacher can follow post reading in
the classroom?

(A) Comprehension questions

(B) Language and grammar work

(C) Pronunciation exercises and structure exercises

(D) All of the above

Which one of the following is most important in learning
a language?

(A) Language rich environment

(B) Language class in a school

(C) Textbook

(D) Language lab

Learners are involved in individual activities, pair work,
group work and whole-class work because these.

(A) enable the already over-worked teacher to preserve
her energy there by becoming more effective.

(B) afford the learners opportunities to use the
language in a focused manner for real-life interaction.
(C) provide the learners enough opportunities to relax in
a language classroom.

(D) have the sole aim of introducing variety in a
language classroom.

Select the word with correct spelling for filling in the
blanks in the given sentences.

Please be
(A) breef
(C) brif

(B) breif
(D) brief

37.

38.

39.

Select the word with correct spelling for filling in the
blanks in the given sentences.

There is no much ... in the results.

(A) difference (B) differense

(C) diferense (D) diference

Select the word with correct spelling for filling in the
blanks in the given sentences.

Give me a proper ......... for this payment.
(A) recipet (B) riciept
(C) receipt (D) receept

Select the word with correct spelling for filling in the
blanks in the given sentences.

Keep ........ don't make a noise.
(A) quite (B) queit
(C) Silent (D) qwait

Direction (40-44) Read the following passage and answer

40.

41.
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the questions that follow.

You have all seen birds flying. For thousands of years
men watched the birds and wondered how they had this
marvellous gift of flying. Looking at these birds, man
first begain dreaming about going up in the sky. Men
tried to copy these birds. They tried to make big kites
which could carry them up. The tried various methods
but could not fly. One winter night a man was sitting
near the fire. While looking at the fire he saw smoke
rising from it. The man watching the smoke wondered if
the smoke could also take other things up with it. He
made a bag of silk and burnt some paper below it. As
soon as the smoke collected in the bag it started rising
up.

Several other people also tried this experiment and
were successful. They made bigger and bigger bags
and filled them with hot air. In big balloons they put
animals.

in-a small cage and sent them up in the air. When the
animals returned safely they sent up a man in a
balloon. Balloons could fly only in the direction in which
the wind blow. Improvements began to take place and
the balloons could stay in the air much longer.

Some people were also trying to experiment with other
methods of flying in the air. One new method was of
flying in gliders. A glider is like a present day aeroplane,
but has no machine or engine. Unlike the balloons, the
pilot of a glider can control the direction of travel but the
glider can stay up only as long as the currents of air can
support it.

In America, two brothers, Wilbur and Orville Wright.
were carrying out experiments at the same time. They
were known as the “Wright Brothers”. They worked
hard and tried several experiments. In 1903, they were
able to make a machine which could fly in the air.
Although the first really successful flight took place in
1903. an Italian named Leonardo da Vinci had though
of a rough form of an aeroplane more than five hundred
years ago.

The first machine was not very good. Before showing it
to the people many improvements had to be made. The
people were delighted to, see the machine fly. The
public gradually began to take interest in these
machines.

What made man dream of flying in the sky?
(A) Flight of an aero plane (B) Flight of birds
(C) Rise of smoke (D) Flying kites

Wright Brother invented the-
(A) glider
(C) engine

(B) balloon
(D) flying machine
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42.

43.

44,

Leonardo da Vinci belonged to-
(A) ltaly (B) German
(C) America (D) England

A glider can remain in the air Only as long as-
(A) the pilot can control its direction

(B) the fuel lasts

(C) the current of air supports it

(D) the day light remains

A balloon rises up by the power of-
(A) engine (B) diesel
(C) hot air (D) petrol

Direction (45-49) Read the passage carefully and answer the

45.

46.

47.

48.

49.

50.

51.

52.

Fb:-

questions that follow by selecting the correct/most
appropriate options.

Had | the heaven’s embroidered cloths, Inwrought with
golden and silver light, The blue and the dim and the
dark cloths. Of night and light and the half-light, | would
spread the cloths under your feet: But I, being poor,
have only my dreams; | have spread my dreams under
your feet; Tread softly because you tread on my
dreams.

What is the rhythm or pattern of sounds in this poem?
(AYABABCDCD (BYABCDABCD
(C)AABBCCDD (DDABCABCDD

The heaven embroidered cloths would be decorated
with?

(A) Gold
(C) Diamond

(B) Silver
(D) Both A and B

What does the poet want to do with heaven’s
embroidered cloths?

(A) He will make dresses out of it

(B) He will cover his feet with it

(C) He will spread under someone’s feet

(D) He will give it to the poor

The colours and shades of cloth may refer to?
(A) Ground (B) Heart
(C) Sky (D) Heaven

What do you think this poem might be?
(A) Poet’s lust for expensive things

(B) A love proposal

(C) A social commentary on the rich
(D) A fantasy world

In the words ‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’,
‘and light’, ‘the half-light’, which literary device you can
trace?

(A) Onomatopoeia
(C) Hyperbole

(B) Visual imagery
(D) Personification

In teaching of English, which skills play most significant
role?

(A) Reading and writing (B) Reading and listening
(C) Speaking and listening (D) Speaking and writing

Advantages of using chalk board in the classroom does
not include:

(A) Itis generally available and is in-expensive.

(B) It does not require advance preparation of visual
aids.

(C) Itis very useful in presentation which requires much
erasing, e.g. Mathematical calculations.

(D) Teacher cannot see the reaction of the student
while writing.

53.

54.

55.

56.

57.

58.

59.

60.

61.
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Pre-reading activity is meant for-

(A) teaching the grammatical items given in the text.

(B) connecting previous knowledge and taking the
learner into the text.

(C) connecting the whole class with one another.

(D) giving information about the writer of the text.

The term ‘linguistic competence’ is associated with
which one of the following approaches/ methods to
ELT?

(A) Direct method

(B) Grammar-Translation method

(C) Communicative approach

(D) Structural approach

Which of the following is a lexical word?
(A) Principal (B) If
(C) Some (D) Whether

Use of grammar, and spelling pertains to.
(A) text production while writing

(B) formal speech

(C) listening to a lecture

(D) informal conversation

Remediation, when students find difficulty in the use of
different 'modals’ would be for them to.

(A) Be given ample practice in using modals in a set of
sentences.

(B) Frame sentences on their own and teacher corrects
them.

(C) Learn about the structures outside the classroom
through suitable activities.

(D) Practice by collaboratively completing tasks where
structures are used interactively, in a variety of real-life
situations.

How will a teacher best teach ‘writing’ skills to a class?
(A) By brainstorming ideas and asking students to write
in their own words.

(B) By asking students to write neatly.

(C) Through dictation.

(D) By asking students to learn articles and rewrite
them.

Language learners learn to do by doing. Which activity
supports this observation?

(A) Opportunities to practice as it helps with habit
formation.

(B) Encourage the use of their mother tongue to
promote better understanding of the meaning of a
prescribed text.

(C) Go from concrete to abstract texts.

(D) The teacher models the writing and speaking styles
which learners copy.

Rahul, one of the bright students of class all of sudden
started taking least interest in class activities and is
performing poorly in his class tests, what can be the
reason/s?

(A) Lack of directions and counseling

(B) Least interested in a particular subject

(C) Transfer of parents

(D) fear of failure

IR & 3e0T Uel & Yo Heeayul §

(A) RS Tifig & wrait ot ufafAfer Te=m

(B) et & TRe W & sFE favg wrwht
(C) 3BTRS HTNT BT UL

(D) HeTaR-aebifaaal &1 gy o ganT
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.
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gﬂ%ﬁﬁwa%ﬁﬁm%g&rwﬁm%@aﬁgmmﬁ
(A) fQT&'IUT_ﬁv_g’Gﬁ B HH FiEd B

(B) & fIaRI &) RIA ¥ UM &A1

(C) B BT Yd I

(D) R faeR| BT Y& T UGH BT

FRafifad ¥ @ S19-91 919-Us &1 Hew T8l 82

(A) HF e § 39 9u1 AfkTes 2ifhy Ted B

(B) A1 I & YbH HH Bldl & Hiife STH aredial IR SR -Tgt

|l

(C) A aTa AT BT YGUINT Rl 7 |

(%D) T e & TG UTeh ThTdicd gih S dfad B Ugd!
|

TN ] STHRUT B} G Pl-

(A) DA TR YT & ATTH § 3{iehT o1 A1
(B) Fe=—ITET® Uil & HIeH U 31idhT ST A1gq |
(€) Tef gdes usit & Arem § ofichT ST Afey |
(D) Sad xS Ul & H1eAH W ST ST AR

;ﬁ%ﬂmwww&nﬁﬁﬁﬂwaﬁaﬁaﬁaﬁﬁaﬁ%w
g

(A) T Sfee THwT IRdd Pl &

(B) T I1eH & U H it Brf et @

(C) T Sifed I & &0 H d 81l &

(D) ST & FAIRSH 8 AT BT B BT &

A Ha B faRdwarel § Iod HH Hew fhaeT 82

(A) 31T R&07 3R UTSUshH IUeTs BT Sl &

(B) faRIW SR T JUTS HRTS STt &

(C) TR TeTIMfa a1 verdTa ST S1eRT AR el fahar ST
(D) &HdT BT TG B3 P SRR TR fBred &

UG B SIS BT [IHT R P g St § fob-

(A) T ) T3 SR & o amen fsan smw

(B) 5= ! gy TR 1 favy Irft Iuas PRTS WY
(C)Ei?rﬁﬁ%_; Y ygH & fore aren fovan Sw |
(D) 5= B! SId-SdHR UgA & forg Rdw few Sy

ERLCIE

(A) HTST R & 9gd 91 T B

(B) HTSTT TG Y TR & STer |
(€) {1 e H F1e7 I Bl g
(D) ST e B U He<aqul Tred g

TS - e ic: fraal B Jucisy HR BT T Ie= §
(A) TH-GIR &1 S B SR HAT

(B) faerera & €1 3@ fhare el & IR § SHBRT B Irei BT
© Wﬁ@?ﬁﬁ%%ﬁﬁﬁﬁ%@ﬁﬁ?ﬁ@ﬁ%
TR H T BT

(D) U GUR & AT 1o = fasmRid axr

TS TR W T & U &HAT BT 3B B § Tad HH

Tg@yu §

(A) Fot SEHR FHg a1 wiadT e
(B) U3 & 3id | faar mar snary
() ft e &1 gufq

(D) A I gt e

fe=<l & g Iufy fpad g @7
(A) AfHH Tpd
(c) Teht

(B) I Txpa
(D) NI 3Oy

gﬁwﬁwﬁﬁﬁq-ﬁﬁﬁhmﬁamﬁaﬁ?ﬁm%@m
?

(A) WY

(B) oA
() auf (D) 3&R
BI-1 g, ST eg; T GHaTH! T8 82

74.

75.

76.

77.

78.

79.

80.

(A) 3t (B) 1=l
(C) PI<R (D) ST
fraffed weal § 4 g FU B-

(A) Usaferd (B) Ussaferd
(C) vaiferd (D) USTaferd
9 Rora aredl & § H-a1 I/ TEl 87

(A) SHS! 31 T Y € 39 T

(B) 39 GHY 39! a1 g 9 @
(€) g I B TR § TH THY ITH!
(D) 3T THY 1Y TN B 3R & ISP

Fafa &1 gam W 3-

(A) YA (B) faare Mea
(¢) fomT gar aman (D)

9 faweal & T g fohaT o7 TT BifoTe-
(A) T (B) geT

(C) Trarer (D) ISUMT
81 & fore Jugad Sifiare &1 99 Bifore-

(A) GUH THDHR (B) TTeR YuIH
(C) T8 (D) FRiSfia
DIF-T Yeg TGH T8l 87

(A) gd (B) 3ifd
©gH (D) 3,
HHa Uog 7 HH- fIA907 &1 ey gar g2

(A) 7T (B) Bl
(C) H{¥d (D) 3eHTar

frd=r (81-87) TEI™ &1 Uga fufafad usl & wew 3fed fawew gl

81.

82.

83.

84.

85.

86.
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TR 3 & TR a8 Ui W I TN AW AT W I &
ST & U H, A ST Hels Ud WiegHI & HRA ST @M A 7l
g7 HRIYeS &1 I1q #, gl 3 1 AT T Wikl Tavell 3R
YA B! AV UGH HRd g1 T AR AT H Iea,
I Td WRIETH R U &, A TAR R R-UfHT T RT Bt
UG & T-T1Y, fay-dy@ ud guag &t Hian ot 9e1d 7l
$I GRT HEIGEYl & IUSH 89 39 o1 &1 Ire fiemd & &
HfgaR T WEEAT gRT 81 g9 W &t 3R §¢ §Fd g1 31
IeRI & W A &6 g Hi Faw firerdr @ o arda # ol &1
Td A& T §, Had I A& db Ugd- &b cRidh SHTHT-31eT gl

QBRI ST FH1 fred Hafdid 82
(A) Tiepiae fafaear (B) A
(€) Ay dya (D) UaRHdl ¥ GedR

ST TRIb & AW J {5 3R Yobd fobar Tam 82
(A) 3ITHT- 3T IR (B) 3ICIT-31TT IUTd
() fafta duer (D) faftst gom-=ie

fFrafifed § 9 -1 diER b 7ergey 3 761 91 87

(A) Rigre foad (B) 5Tt f’eag
(C) TiTeRt et (D) TTUraA fead
TER P H 71 Y g 82
(A)ﬂ%@m% .

(B) T FHA-JaahR 38 §

(©) T+t u &y FT ST HRA
(D) ITY Bt SIS gTeTd Geraht §

2eHfdT H DIF-91 IH 72

(A) FHYRYT TH (B) 55 99

(C) TR JH™ (D) T Im ™

i Teq §

(A) fpar-fagmo (B) fawuy

(c) fopa (D) Furd
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88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.
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Tt weg B

(A) fa=or (B) fpar-faiwor
(C) YTgarS T (D) fopam

HTST T Y YebTd o1 g1l 87

(A) ST HRAT (B) fa=R} ot 3yaafdd o=
(C) ufcde feragmn (D) G BT
HTOT- 3ot 3TR HTOT-31f H Hewaguf ofcR 31

(A) HTST &} UT6d -G |

(B) HTST TRe-- R &1 ugfal

(€) Yt TRAw &} Iua=AT|

(D) HTYT BT HidTS TR

FeT v & faeiiat o) adfor ueror e wwy RiféeT a8 gugm
¥ fou oF® Sarerur T ¢ & o gaR fou o8 afiel @
a'crqﬁ%ﬁ%l 39 gR1 fou U Fufefed SRl & § SH-a
T 87

(A) 3F T TR aT6 I oIl §
%a;ﬁaﬁ%%mp)aﬁ?&w$aﬁaﬁﬁaﬁaﬁm$wﬁan
l(q%%}qﬁsﬁfaﬁ?wﬂqﬁaﬁaaﬁaﬁm$masnaﬁ

(D) FH@ER TU J FW Hob! T3 I T F HRUT §HAT §HAR
U &) a0y 3T @

Part-(IV): Mathematics and Science
?ﬁms{qﬁw%aﬁﬁlﬁ’rg%w%ﬁmmmw
|

(A) 40° (B) 50°

(©) 70° (D) 72°
TAT 3489 H 4 BT RIF HF 3R S {4 &7 A &
(A) 404 (B) 1004
(C) 104 (D) 4004

1 Hiex ¥ fpam St Mee gd 27

(A) 0.01 (B) 10

(€) 100 (D) 1000
10 SHTE + 10 GBS + 10 BIR RIS @

(A) 11100 (B) 101010
(€) 10110 (D) 11011

Sl FEATSHl $7 U 2 : 3 71 MG ITHT AT 24 Bl HeATsit
BT GRT 1A HR?
(A) 28
(C) 64

(B) 20
(D) 72

ngmwzm‘rzsow%l 16 Wt <1 &1 pd sHH
187

(A) 16kg (B) 36kg
(C) 38kg (D) 48kg
oot il 1 gfdf B 79= - x T |
(A) 7 (B)9
©79 (D) 97

gfeg @Rem 25301 H 5 &1 WM AF) + (&BAT 3650 § 6 &I
RIHY AF) =7 x---- o Red A A G /|

(A) 600 (B) 700

(C) 800 (D) 900

0.77777+0.7777+0.777+0.77+0.7+ 0.07. & T B! TUMT H1org]
(A) 3.86274 (B) 3.80247
(C) 3.85274 (D) 3.87247

8U(Units)+9U(Units) T A T8 |
(A) 16 (B) 15
(€) 18 (D) 17

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.
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g i @A 1:2:3 & SIUTd H ¢ YT ST A, 128, A A
SRS

(A) 4,8 12 (B) 12, 24, 36
() 12, 24, 30 (D) 5,12, 15

AR H e 5 a7 T 3 O &1 AT 41/35 § 3R ISP i Y
S W U o1 a 43/35 B o g, 3 iR 8-

(A) 3/5, 4/7 (B) 2/5, 4/7

(©) 4/7,2/7 (D) 3/5,5/7

119, 1 o 1 fopam ufdwrd @2

(A) 1% (B) 10%

(C) 0.1% (D) 0.01%

fepft feremera &1 BT T@AT 100 §1 8T 10% ATMD B & ¥ DA
T ¥ 3fg 81 @ 81 2 9 9I1g I8 Bt BE T fh @
SIat?

(A) 120 (B) 121
(C) 122 (D) 111
frofafed & 3fa fir 8-
(A) 3/5 (B) 5/4
© 1 (D) 9/3
fordll 7 1 U Yol R &9 a7l & & qul I avf & fasof R
5 @il & ST | T SiuTd g
(A) 1:2 (B) 2:1
(€13 (D) 1:4
002 ] WRAH T 7
(A) 0.5 (B) 0.05
(C) 0.005 (D) 5.00
50 + [100- {35-(30-20)}] x2 T T §-
(mo (B) 50
(C) 100 (D) 200
Ex 2424 2o WReAqH & 8-
(A) 044 (B) 0.32
() 0.49 (D) 0.36
0.827x0.827-0.173+0.173

0.654 . aﬂgﬁ%
(A) 1 (B) 2
©3 (D) 4

HefT | 3R 1| B T fReror 3R Sifvm & o Fefa & 9

-1 Gel 87

%&nwﬁuﬁ%nﬁm%ﬁ%mﬁaﬁww
|

(B) TIIOTT T 31 fawa S fob wTeT, St 3fe @ GHTRaH fobar

S AR |

(C) F&f | 3R 1| F TG ¥ e i =ty

(D) 31T & foIT §gd Y SR Uy BN WA AT

Hem o TR ARSI fhatean qur gAdgul s
uRferat el fhareemy mgayuf § wife

(A) 3 fenfial o) I Tiord Han B Teeud auT SR Taf &
HRU B Il S 4 6L A 2

(B) 3 UferHTITe Rranfigt & IfRId 3rawR UgH #d
(C)é?ﬁ%ﬁﬁ%ﬁﬁ@ﬁwm%wﬁﬁ
TEH B

(D) 3 G & &0 wwa Renflal qur de 1y ¥ dRem
el 7 3y IO H7 H S Bd o

P UeIFdl Bl FURET 2005 b IIER, UUHE TR W
Tt 3R 39 W Tfharsi, HrEnai &1 AT, 31 1 fReor
(A) TIOTT fR1er01 & Tepiof IE=T Y IR HRAT &
(B) TITOT fRrefur & I IERT B PRI Bl §
(C) 5= B! R wfgran & TORITIRRY & I B T BT §
(D) Ayl TOTd fRer07 & IR B R BT 8
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79 @ 3@ § R o el Bl 7 TR 9 T@dl &
0 0 0 0O 0 0

00 0000 000O0O0Q0O
g S Wl Pl STl GY TP ARTDI 51 @I & -

, 0] ' !
Number of O Q) signs : 2 5

Number of balls 3 6 9

I B J 1 Fp Tl off Iobdl 872

(A) I B &1 2 3R He I a5 3T 8

(B) ¥ 3R Hgd S I S UaTE PR IR &
(€) I 3R Higd <11 &) Pad Tl 38 &

(D) 7T TIOTT R XET § SR Higd B @I 8

o7 uferar gRT 71fYd & U 9= & HHSIR &3 I UgEHT Sral

2
() fafag erd (B) Hifas &1H
(D)

(C) STRTHS
e, Ue T @ At Bei @ Ot s gamd g
TAR 4 =2 +20r4 =1+ 3 IS 95 YA B BN
TR P DT IR H 22
(A) HETHS =R0T
(C) TUEUS TRT

(B) faHTo TR
(D) TR=TEH =RUT

[1_ (zz—i:)‘z]a;E E-Tﬁ
(A)(1+a-b)(1-a+b)
(C©(1+a-b)y(1-a-b)

M 7 225 30 & fope 3R 115 300 & I & Tbe W

(B)Y(1T+a-b)(1+a+b)
(D) (1+a+b)(1+a+b)

g GHMGR P! [ FUT BT YT B2
(A) 240378 (B) 340973
(C) 440370 (D) 345370

T ¢t & 256 lex Y ST g1 oI THH SMHR & 16 9IR F
RT S bl ¢ | T 25 SIRY A fooe1 g e

(A) 300 TR (B) 400 TR
(C) 455 TR (D) 550 ®ieX
A oH I i ged 9e1 82

(A) 13/17 (B) 14/15
(©) 11/13 (D) 17/18
Hd IR & O el SU BT 22

(A) Tpd (B) 3@

(c) fomerm (D) wiTeT
e Rafafaa 7 9 o 3 Iefta 82

(A) YT (B) HaF
(C) TS (D) B

A g5 & Fafifad § 3 1 a1 e urar S 82
(A) FHfeRa (B) BT
(C) SHieiterT (D) BRERY

fafafad & 3 o a1 Ry & deaien & forg dxmgmd oREeT
I ST 72

(A) RaT A X quT AT A Y (B) T q y qur AT T X
(© @ yaura@ar Iy (D) T q X quUT AT I X
TR {59 UBR &1 SHds 87

(A) TS SHdd (B) ATORh SHdw

(c) fuldferad Sa® (D) 31 SHds

I SSBH 1 IS TH B

(A) ST (B) Tditar

(©) Y (D) 3FR

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.
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fafafaa & ¥ o tdemifes 82
(A) RPHRREA (OEEES
(C) RINHZEHH (D) SWRied gt
Tad W19 3R Y9 FIfRB13N BT W AT STl 3-
(A) faeTf A (B) faeTfiA
(c) fderf e (D) faerfem
ol & 3 b o o G-I @t emyar 77
(A) factt (B) 9
(C) AR (D) IHd

F 3 H UgSfae 3 ST B
(A) BfeaT a5 (B) TR T
(C) hIIH (D) U
W 0 P YBY AU b GRE e arell 3iafiem
e & @ fud ged ¥ o 82
(A) BT SZ3HHZS (B) TH1 31T
(O EZEIHESH (D) U

WHeEle & ueH & fou Fofkied & 9 e 0d @1 Sugh 78
foram ST 27

(A) & (B) IEX

(C) & (D) I
SiepT A7 fpEes BRI BT B-

(A) TSI Hes=] GRT Ui T Ao

(B) T3-1 T-1 fammg

() UifcraHTSaTS ey fammy

(D) IR Siex faumy

T IRR N Iad BT WA JE@HTH) -

(A) 12% (B) 7%

(€) 10% (D) 5%

ST ST T BT ITA HId T & SRS F U H
MW%

(A) 7§ (B) T

(C) T4l (D) HUH

T YRR Ufghan § vgad 9 §

(A) TTREa A (B) S HT AT
() Tt s aa (D) U O

g g o T SR cee ¥ i = u g

faga foran o1 gwar 8

(A) (B) YA

(€) Il afte (D) TR
Wﬁféﬁﬁﬂﬂ@ﬂ%ﬁﬁhﬁwﬁt—r%

(A) TEGISH (B) SRS
(C) TSCIoA (D) BTa SR3TES

N3-, 02-, F- 3R Na + &7 I ISt HH BT STIRVN I &
(A)N3- > 02- > F->Na+  (B)N3- > Na+ > O2- > F-
(C) Na+ > O2- > N3- > F- (D) O2- > F- > Na+ > N3-

0 q DA U SIESIaH 3T 82

(A) H+ (B) HO -

(C) H2+ (D) H30+
frafiRed 7 3 9ad oifie soaguififcd dd §
(A) Na (B) Ca

©K (D) Cs

WHA & ST UHA F o ST H TH A 7 B
GV (B) S
(C) T SRS (D)
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143, R F A RUgeR &1 37 TH 7
(A) HTHT (B) Ysp
(C) 3mdyg (D) 3MGERT
144, 3T YR | Y1, o G & 9% Pt & Io H 7, gt A
qH UgIaT 8|
(A) 4.2 THS (B) 42 YFs
(€427 (D) 42 T
145. AR PIIRUIGA

(A) TIHST & A= YT 1 SEM aY
(B) AR § 4919 TSqa!

(C) TgHSH H SIS TR P &RUT

(D) IgHST & fAfls YT T J@HE A

1Y faggd & garare eIt & Fife

(A) 379 o 3del 81a &

(B) TRV P g &1 © U fbam o &
(C) ST I Taid il &

146.

(D) IR it
147. IRYGF & FE A gadha ___ g g?
(A) 3f¥HaH (B) =IIdH
(9] (D) SWIad gt
148. Fofifeaa 7, o Yo uenf grr il 7€t grar g2
(A) STaeH! (B)ﬁagﬁqmaﬁnﬁﬁwm
(C) AT HUI (D) g
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: Child Development & Pedagog
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Exceptional children are classified based on the area
or mode of deviation as:

* Intellectual deviance

« Sensory deviance

* Motor deviance

* Personality deviance

« Educational deviance

« Social deviance

* Traumatic brain injury

* Multiple deviances

Among the above-mentioned deviances,
impairment is associated with motor deviance.
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There are some variations on reading
comprehension assessments, however. For
example, instead of explicit questions about
facts directly presented in the text, the child
could be asked to answer inferential questions
about information which was implied by the
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Ans.40(B)
Ans.41(D)
Ans.42(A)
Ans.43(C)
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Ans.46(D)
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Ans.49(B)

Ans.50(B)
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text, or the child’s comprehension might be
tested by his or her ability to retell the story in
the child’s own words or to summarize the main
idea or the moral of the story.

Pedagogical knowledge includes knowledge of
content knowledge of method. Pedagogical
content knowledge is a type of knowledge that is
unique to teachers, and is based on the manner
in which teachers relate their pedagogical
knowledge to their subject matter knowledge.
After completing the reading part it is the
responsibility of the teacher to provide best
exercise part to his/her students. A perfect prose
always contains skillful vocabulary and perfect
writing skills. So, the teacher should make sure
that he/she provide appropriate exercise of
grammar, vocabulary and various writing skills.
Language rich environment is the most
important in learning a language. Language
development in a child happen the best in a
language-rich environment. Child understands
better when his environment provides learning
in language in which he have much knowledge.
Learners are involved in individual activities,
pair work, group work and whole-class work
because these afford the learners opportunities
to use the language in a focused manner for
real-life interaction.

Whilst pair work and group work are the staple
of the communicative’ classroom, and are the
fundamental way in which teachers can give
learners the opportunity to practice what they
have been exposed to meaningfully.

Please be brief

There is no much difference in the results

Give me a proper receipt for this payment.

Keep Silent don't make a noise.

Flight of bird made man dream of flying in the
sky.

Wright Brother invented the flying machine
Leonardo da Vinci belonged to Italy

A glider can remain in the air Only as long as
the current of air supports it

A balloon rises up by the power of hot air

The every other line have the same word and
the natural stress that is properly pronounced in
each word helps to create the rhythm or pattern
of sounds, ABABCDCD.

In the second line the poet talks about the
heaven embroidered cloths which would be
decorated with gold and silver.

The fifth line of the poem makes it clear that he
will spread under someone’s feet maybe his
lover.

‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’, ‘and
light, ‘the half-light are all the shades of the
sky.

Something which is totally priceless, whose
value cannot be measured in gold and which
must be kept in a safe and secure place at all
times. He then says that if he had such an item
then he will lay it down at her feet. This clearly
shows that the desire to impress her outweighs
the price of that priceless item. It means he is in
love with someone. So, it is a love proposal.
Visual imagery makes use of particular words
that create visual representation of ideas in our
minds. ‘The blue’, ‘the dim’, ‘the dark’, ‘Of night’,
‘and light’, ‘the half-light'" are all the shades of
the sky and with it the poet creates ideas of
colours in our mind.

In teaching of English and other subjects,
speaking and listening skills play most significant

Ans.52(D)

Ans.53(B)

Ans.54(C)

Ans.55(A)

Ans.56(A)

Ans.57(D)

Ans.58(A)

Ans.59(A)

Ans.60(A)
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role. Without these skills teaching learning is not
possible. The more opportunities that children
get to listen and speak, the faster they learn and
speak, the faster they learn language and it
naturally becomes their own language, hence
maximum exposure should be given.

It is probably the most widely used and versatile
tool of instruction. It provides a very convenient
surface. Where the communicator can develop
subject matter visually in a manner and at a
pace to suit the subject and the pupils. It
requires a chalk and an eraser.

Pre-reading activities cover a range of
possibilities, all directed at helping learners
engage in a process of discovery and to feel
authorized to engage with the form and content
of the text. It makes the learners to be involved
in the learning process, here 'law of readiness'
is presented. The 'law of readiness ' states that
if the learner is ready to learn the concepts then
he/she grasps the things more easily. Pre-
reading is the process of skimming a text to
locate key ideas before reading a text (or a
chapter of a text) carefully from start to finish.
Also called previewing or surveying. Pre-
reading provides an overview that can increase
reading speed and efficiency.

It is distinguished from linguistic performance,
which is the way in the language system that is
used in the communication process. Linguistic
competence is the knowledge of how to use the
grammar, syntax and vocabulary of a language.
The lexical word (= a full word, lexeme, lexical
item) means the word in terms of content
relates to things, actions, and states in the
world. Principal is a lexical word.

Writing skills are an important part of
communication. Good writing skills allow you to
communicate your message with clarity and
ease to a far larger audience than through face-
to-face or telephone conversations. Correct
grammar, punctuation and spelling are key in
written communications.

Remediation, when students find difficulty in
the use of different 'modals’ would be for them
to practice by collaboratively completing tasks
where structures are used integratively, in a
variety of real-life situations.

By brainstorming ideas and asking students to
write in their own words, a teacher best teach
‘writing’ skills to a class. Writing is an important
part of our daily lives. It is, however, a difficult
skill to learn and master. By getting a head start
with some simple activities, you can help your
child begin to develop her writing skills at an
early age. By doing so you will be contributing to
her future success as a student and as an adult
while teaching her how to express herself.
Children require multiple exposures to words in
order to develop a rich understanding of their
meaning and use. Teachers should make a
point of introducing interesting new words for
children to learn into each classroom activity.
Teacher should provide opportunities for self-
directed activities so that students can choose
activities that match both their interests and
their language abilities.

First preference will be given to option 'a’, it is
the responsibility of parents and teachers to
direct and guide students at this stage. Lack of
guidance and support can always demoralize
the child, distract them from studies.
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Ans.61(B)

Ans.62(D)

Ans.63(A)

Ans.64(C)

Ans.65(B)

Ans.66(A)

Ans.67(B)

Ans.68(D)

Ans.69(C)

Ans.70(A)

Ans.71(D)
Ans.72(A)
Ans.73(B)
Ans.74(A)
Ans.75(B)
Ans.76(C)
Ans.77(D)
Ans.78(B)
Ans.79(D)
Ans.80(B)
Ans.81(A)

Ans.82(C)

Ans.83(D)

Ans.84(B)

Ans.85(C)

Fb:-

: Language Il (Hindi Language
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TGH IIEY HRA P a1 B A Uo gl I 2

O 31T UoT IR Bl Segl-Slea! Ugd! & 3R ARKTSh

39 It & 31 B g T B

Sierard iR ff@a wrwr & fom Fael &1 ya 8t g 3=
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Ans.86(D)

Ans.87(C)

Ans.88(B)

Ans.89(B)

Ans.90(D)

A HEd & oI - TEE $ U TR 38 gA WEw o)
PP

WY, @i, Fad, B, enfe o 21

fuTa 2reg 7 3nef:

fUTd <z THE ) 94 UeH HRd ¢ | I8 W TEF UG
B € o g B 9d9 o Iuw R 3 B, Tt
fYoTa Te® Wsg gid gu +f areg &1 S 6 A o
3R 37T P18 Y forT a1 g T8} STl

T TF WIS T (W) 7, Fora v a1 STg
SRR Bl 51

YTV T SWHTE 79 § 3 o=t ot sifiaufag & forw
fopar oar 31 U7 Siftreafad Wi iR fafla fepeft oft
FUH g gl g

ST o7 dread g g1 e e 3l &1 arad g
T B fpat-1f eiftn &t ufhar ShaawR T
TEt 81 HINT BT 35t SIHRUT GRT ST 81 AT o
& YT 9uT 39 WRa b4 a1l arararureg aRkfRufaat
A & U 1T & | TET U BT 3ol b1 gRT Bl 8
TR U Y FR S R B! 7Ts 9% 0 & HROT
UM AR U Aoy 3Tt 71 fRuférept gRT Igya faan
7 TTeld Jare’y g

Part-(1V): Mathematics and Science

Ans.91(D)

Ans.92(A)

Ans.93(B)

Ans.94(C)

Ans.95(B)

Ans.96(B)
Ans.97(C)

Ans.98(C)

Ans.99(D)
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BV DI A A B
e

A=2/3x(180-A)
3A=360-2A

5A=360

A=72

3 BT A TBAT H ITb M W AR rar g

SIdIg 7 3 BT aRdfde A gidT & 3rufd, 5 &1 S
M 5 3R 0T ST AF 0 3R 3 UK 3| 39 fufa
H4pIoda a4l

”FET AF 3P » WG AF R IS RE BT
A% BT & (x 3PT8,GBTS, Ah el 31fS)
ORI, 4 STRIFT A 4% 100 = 400 ®

3T WY 3R ST A BT ANTH 400 + 4 = 404

1 HeX = 10 ST Hiex

18 Hex = 0.1 Hiew

Hiex das AFe W URG AU Tomet g 3R 39
AT H - W (m - e §1 S ek e 7Ee R
3eTRa AT Yumel! ® 3R U Hick & g8d W &
TSR Bt 81 3R 3THT J&T H M "dm” §1)

10 3PTS + 10 BT + 10 JbaT

=10 x 1+ 10 x 10 + 10 x 1000

=10 + 100 + 10000 = 10110

T GBATT 2% 3R 3x &

2x 3R 3x BT AT T=6x

(2 IR 3PTATU6 | 3 2x 3R 3x BT A.FY 6x T)
faar g 2x 3R 3x BT AT 24 B

=> 6x=24

=> x=24/6=4

T3 BT ART = 2x+3x=5x= 5 x 4= 20

TS 5 &1 99 2 Sl 250 A B

16 T 3 1 Pl GoOHM = 16x2kg = 250gm

= 36 foal

79x1=79

TN, 79 U RIR E 79 F

TR 25301 H 5 BT R AF = 5000

TS 3650 H 6 T ™G A = 600

S RITHTY 719 &1 41 = 5000+600=5600

AR,
39T, 7x? =5600, ? = 5600/7=800

0.77777
0.7777
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Ans.100(D)

Ans.101(B)

Ans.102(A)

Ans.103(C)

Ans.104(B)

Ans.105(A)
Ans.106(A)

Ans.107(B)
Ans.108(D)

Ans.109(A)

Ans.110(A)

Ans.111(B)

Ans.112(C)

Ans.113(A)

Ans.114(A)

Ans.115(D)

Ans.116(B)

Fb:-

(8x1)+(9x1)
=8+9

=17

T BT BT 3O = 1:2:3

JABTHY, = 12

3 WA = 1x12, 2x12, 3x12 = 12, 24, 36

T gl s BT 37RT x 3R s} e 1 3fery .
TR,

x/5 +y/7 = 41/35

7X + 5y =47 - 0]

QYT y/5 + x/7 =43/35

7y + 5% = 43 ---m-mmoeeeee (1)

FHH (1) F 7 SR FHS () H 5 FT 0 b
TeH W,

49x + 35y = 287

25x + 35y = 215

24x =72

x=3

x BT A FHISRI (1) H W W,

y=4
3ra: 3rfiy s gl 3/5 3R 4/7
1 kg = 1000 gm
37ct: 3fTF Ufa=Id = (100 x 1/1000) = 0.1%
2 99 §1C BT P T
=100 + (100 T 10%) + (110 BT 10%)
=110 + 11 = 121
IR R-3/5
1 P51 8B = a?
ot R &7 T o1 e =
3JUId = a%/2a®> = 1:2
@ = 0.25/5 = 0.05
50 + [100- {35-(30-20)}]x2
= 50 + [100- {35-(10)}]x2
= 50 + [100- {25}]x2 = 50 + [75]x2 = 50 + 150
=200
Sy242.6_5,2,2,7_5 .7 _12

6 9 9 6 27 27 27
= 4/9 = 0.44

0.827x0.827-0.173+0.173 _

(@V2)? = 2a

0.827%2-0.1732
0.654

0.654 2
_ (0.827+0.173) (0.827 —0.173)

0.654
_ (1) (0.654) _

0.654

B HfAF T e A 3R T8 faafa &% o ot &
® T 99 3 IR & fafee &= & T Ioy &1
Tpq T 3 I & [y TN @Y el PR W
BH I8 Uad § b T I 51 @1 § Y I§ DI
I IO Wham 3R IThT SUTNT B & T AragiNG
WEI YoM BT 21 Y fAwd F @y G @1
THIHRO BHE & o Sremd § S & g apfgof
T argl
Fem H T TARee TRy ek Iy
St uRfert el forarsary Ayl €, e a
R Ruendff Fenfe iR fTxdivuneds &md B 9gn &
for Yer® B B
TTAIUw 2005 & AR, WUfld TR R @it sk
I W fcharati, AETSH o1 "=, 3nfe 1 fRyemr i
218101 % 10l I B R AT B |
IR Ml F, T8 Tee g fb I0 T W17 3R g
T T BT B
A & U6 o= & 59 8 § HHSR &1 UgdH &
Sl 8, 39 AeTd S & U F S S ) e
qﬁwmww%@rﬁ%aﬁﬁ%m@r
uaﬁ | ) HfRTTd drebd, BHIRGL, FH 3R B

fauTRIT Tl &) THeM B BRI BT B

Ans.117(A)

Ans.118(B)

Ans.119(B)

Ans.120(D)

Ans.121(A)

Ans.122(B)

Ans.123(B)

Ans.124(D)

Ans.125(A)

Ans.126(C)
Ans.127(D)
Ans.128(D)

Ans.129(D)

Ans.130(B)

Ans.131(A)

Ans.132(D)
Ans.133(A)

Ans.134(B)

Ans.135(B)
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17/18 = 0.944

It 0,944 B, ST 17/183TH 32T B

O X0 R T F R e & faw tw TR R T @

BId1 8, Sl SUTEToR HRvh13l & AR grT Affd gar ®,

Gﬁ@ﬁﬂ&naﬁf%ﬂﬁg%trmﬁmm%ﬁ@

¥, o7 apa (@pd fom) gR1 @R FAffa @ar §, 3R

forer 7 GuEid SR Hfed gl g

HYR~H U Hdeh §, U UIT el | AR UhTL JLA

Y TR e T & oY 1Y HRd o

g fY § B ¥U ¥ RR$d BR%be @

TR RIAYeIge) 57-80%, Wﬂﬂﬂﬂﬁ?61o%ﬁ'{
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TN IR FHhdl gl
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Ans.136(D)

Ans.137(2)

Ans.138(A)

Ans.139(A)

Ans.140(D)

Ans.141(D)

Ans.142(A)

Ans.143(D)
Ans.144(C)

Ans.145(A)

Ans.146(A)

Ans.147(C)
Ans.148(D)
Ans.149(A)
Ans.150(B)
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Part-(V): Social Studies/Social Science

Ans.91(D)

Ans.92(B)

Ans.93(C)

Ans.94(C)

Ans.95(A)

Ans.96(B)

Fb:-
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Ans.97(D)

Ans.98(C)

Ans.99(D)

Ans.100(C)

Ans.101(B)
Ans.102(A)
Ans.103(C)
Ans.104(B)
Ans.105(C)
Ans.106(A)
Ans.107(D)
Ans.108(A)
Ans.109(A)
Ans.110(B)
Ans.111(B)

Ans.112(C)

Ans.113(C)
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